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1. §ÒÁµåê ÑðëéßåÁµå ¼åÒ½²ìåêÄåêÆ Ê·æ²µåÁ™ÒÁµå 

à˜™šÜÝÁµæ˜µå, ƒÁµå²µå ˜µæ¼åÐÁµåÑ–ÓÄå (Δv/v)       
Ê–·ÄåÆ²µæØ ÊÁµåÑæÔå¹ð²ìåêê …Áµå’ð” 
ÇÈåÐÔåìæ¹æÄåê˜µåê¸ (Proportional) 
„˜™²µåê¼å¾Áµð 

 (1) (Δl / l) 
 (2) ( )ll /Δ  
 (3) (Δl / l)2 
 (4) ÔðêéÑ–Äå ²ìåìæÔåíúÁµåë ƒÑÓ 
 
2. Š²µå´µåê ¼æÔåêÐ ¼åÒ½˜µåâÿå ‡ÁµåÂ˜µåâÿåê 1 : 2 

Ôåê¼åê¾ ƒÔåíú˜µåâÿå ÔæÏÜÈå˜µåâÿåê 2 : 1 ƒÁµðé 
ÊÑÁ™ÒÁµå à˜™šÜÝÁµæ˜µå, ƒÔåíú˜µåâÿå ÑÒÊÄð²ìåê 
ƒÄåêÇÈæ¼åÔåíú 

 (1) 2 : 1   
 (2) 1 : 2 
 (3) 1 : 8  
 (4) 8 : 1 
 
3. ÜÝÀ²µå ‡ÚÈå»¼ð²ìåêÑ–Ó „Áµå×å¤ ƒÅÑÁµå 

ÜÝÀ½ÜÈæÀÇÈå’å Ôåìæ´µåêÏÑÜÈó  
 (1) §¼å¾´µåÁµåÑ–Ó ÜÈåÖ¼åÒ¼åÐÔæ˜™²µåê¼å¾Áµð 
 (2) ˜µæ¼åÐÁµåÑ–Ó ÜÈåÖ¼åÒ¼åÐÔæ˜™²µåê¼å¾Áµð 
 (3) P µ̃ð ÇÈåÐÔåìæ¸’ð” ƒÄåê µ̃åê¸Ôæ ™̃²µåê¼å¾Áµð 
 (4) P µ̃ð ÔåÏ½²™’å¾ ÇÈåÐÔåìæ¸’ð” 

ƒÄåê µ̃åê¸Ôæ ™̃²µåê¼å¾Áµð 
 
4. ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê ½²µåêôå (shear) 

ÄåêÆ ÔåÏ’å¾ÇÈå´™ÜÈåêÔåíúÁ™ÑÓ ? 
 (1) ¼ðëÑð²ìåê (beam) Êæ˜µåêÕ’ð  
 (2) ¼åÒ½²ìåê ½²µåêôåêÕ’ð 
 (3) §˜µðÁµå Ê¯ð±˜µåâÿå àÒ´µåêÕ’ð 
 (4) ÕêéÜÈð²ìåêÄåêÆ ˜µåêÒ˜µåê²µåê Ôåìæ´µåêÕ’ð 

5. §ÒÁµåê ÜÈåÔåêÔå½¤ ÔåÜÈåê¾Õ˜µæ˜™ y, k Ôåê¼åê¾ 
η ˜µåâÿå ÜÝÀ½ÜÈæÀÇÈå’å ÜÝÀ²µå¼åÖ˜µåâÿå Äå´µåêÔå¸ 
ÜÈåÒÊÒÁ·µåÔåíú 

 (1) 
y) (9k 

3kyy 
+

=    

 (2) 
η) (3k 

9kηy 
+

=   

 (3) 
y) (9k 

6kyy 
+

=    

 (4) 
y) (9k 

9kyy 
−

=   

 

6. §ÒÁµåê ¼åÒ½²ìåê _____ Ôåìæ´µåêÏÑÜÈó ÄåêÆ 
ƒâÿð²ìåêÑê ÔåìæÏ’óÞ ÔðÑóÄå ÜÈåë¨ 
ÕÁ·µæÄåÔåÄåêÆ ÊâÿåÜÈåÑæ˜µåê¼å¾Áµð. 

 (1) ²ìåêÒ˜µóÞ Äå Ôåìæ´µåêÏÑÜÈó  
 (2) Ê–˜™¼åÁµå Ôåìæ´µåêÏÑÜÈó 
 (3) Êïßå¼ó Ôåìæ´µåêÏÑÜÈó 
 (4) ÔðêéÑ–Äå ŠÑÓÔåî 
 

7. ‡“”Äå ÊðÐé“Ò˜µó ¼åêÒ´µæ˜µåêÔå §¼å¾´µåÔåíú 
7.9 × 109 ´µðñÄóÞ/ÜÈðÒ.Õêé2 „˜™Áµð, Ôåê¼åê¾ 
‡“”Äå ÜÈæÒÁµåÐ¼ð²ìåêê 7.9 ˜µæÐÒ/ÜÈðÒ.Õêé3, 
¼åêÒ´µæ˜µåÁµåÒ¼ð ÑÒÊÔæ˜™ ŠÚÈåê± ƒ¼åÏÁ·™’å 
‡ÁµåÂÁµå ÜÝ±éÑó Äå ¼åÒ½²ìåêÄåêÆ ¼åë˜µåêÊ–
´µåÊßåêÁµåê 

 (1) 10 ÜÈðÒ.Õêé. (2) 10 Õêé. 
 (3) 10 “.Õêé. (4) 10 Õêé.Õêé. 
 
8. Åé²™Äå ‡ÚÈå»¼ð ßð¡¢ÁµåÒ¼ð ƒÁµå²µå ÜÝÆ˜µåÂÃ¼ð²ìåêê 
 (1) ‹Äåë ÊÁµåÑæÔå¹ð²ìåìæ˜µåêÔåíúÁ™ÑÓ 
 (2) ’å´™Ôðê²ìåìæ˜µåê¼å¾Áµð 
 (3) ßðôåê¢¼å¾Áµð 
 (4) ßðôåê¢¼å¾Áµð Ôåê¼åê¾ ÄåÒ¼å²µå 

’å´™Ôðê²ìåìæ˜µåê¼å¾Áµð 



104 (3 - A) 

1. When a metal wire is stretched 
by a load, the fractional change 
in its volume (Δv/v) is 
proportional to 

 (1) (Δl / l) 
 (2) ( )ll /Δ  
 (3) (Δl / l)2 
 (4) None of these 
 
2. Two copper wires of lengths 1 : 2 

and their diameters as 2 : 1 
stretched by the same force, their 
elongation would be in the ratio of 

 (1) 2 : 1   
 (2) 1 : 2 
 (3) 1 : 8  
 (4) 8 : 1 
 

3. The modulus of elasticity for an 
Ideal gas at constant temperature 
is, 

 (1) independent of pressure 
 (2) independent of volume 
 (3) proportional to P  
 (4) inversely proportional to P  
 

4. Which of the following does not 
exhibit a shear ? 

 (1) bending of a beam 
 (2) twisting of a wire 
 (3) wringling of washed clothes 
 (4) curling one’s moustaches  

5. For an isotropic material the 
relationship between the elastic 
constants y, k and η is 

 (1) 
y) (9k 

3kyy 
+

=    

 (2) 
η) (3k 

9kηy 
+

=   

 (3) 
y) (9k 

6kyy 
+

=    

 (4) 
y) (9k 

9kyy 
−

=   

 
6. Maxwell’s needle method can be 

used to calculate _____ modulus 
of a wire. 

 (1) Young’s modulus 
 (2) Rigidity modulus 
 (3) Bulk modulus 
 (4) All of the above 
 
7. If breaking stress for steel is       

7.9 × 109 dynes/cm2 and density 
of steel is 7.9 gm/cm3, the greatest 
length of a steel wire that can 
hang vertically without breaking 
is 

 (1) 10 cm  
 (2) 10 m 
 (3) 10 km  
 (4) 10 mm 
 
8. When the temperature of water 

is increased, its viscosity 
 (1) remains unchanged 
 (2) decreases 
 (3) increases 
 (4) increase and then decreases 
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9. ’ðëâÿåÔð ÇÈðñÇÈåíú˜µåâÿåÑ–Ó ÁµåÐÔå˜µåâÿå ÜÝÀ²µå 

ÇÈåÐÔåßåÄå’ð” ²µðéÄæÑó¶ Äå ÜÈåÒ•ÿðÏ (k) ²ìåêê 
_____. 

 (1) 2200 “”Ò¼å ’å´™Ôðê  
 (2) 2200 “”Ò¼å ƒÁ·™’å  
 (3) 2220 ’ð” ÜÈåÔåê  
 (4) 22000 “”Ò¼å ƒÁ·™’å  
 
10. R ½Ð¦Ï ßðëÒÁ™²µåêÔå ˜µðëéâÿæ’æ²µåÁµå ÁµåÐÔå 

ßåÅ²ìåêÄåêÆ 8 ÜÈåÔåêßåÅ˜µåâÿæ˜™ 
ÕÊ·æ˜™ÜÈåÑæ˜™Áµð. ƒÁµå²µå ÔðêéÑðÍþñ §¼å¾´µåÔåíú 
T „˜™ÁµåÂÑ–Ó, † ÇÈåÐ“Ð²ìðê²ìåêÑæÓ˜™²µåêÔå 
’æ²ìåê¤Ôåíú  

 (1) 2πR2T (2) 3πR2T 
 (3) 4πR2T (4) 2πRT2 
 
11. ÜÈåÔåìæÄå „Ôå¼æ¤Ò’å˜µåâÿåÄåêÆâÿåä Š²µå´µåê 

ÇÈå²ìåìæ¤²ìåê ƒÑð˜µåâÿåÑ–Ó, §ÒÁµåê ˜µå²™ÚÈå³ 
ÔåìòÑÏÔåÄåêÆ Ôåê¼åê¾ ×åëÄåÏ ÔåìòÑÏÔåÄåêÆ 
ßðëÒÁµåêÔå ÜÈåÒÁµåÊ·å¤ÁµåÑ–Ó …Ôð²µå´µå²µå 
Äå´µåêÔå¸ ˜µðëéôå²µåÔæ˜µåêÔå ’ðëéÄåÔåíú 
ŠÚÈåê± ? 

 (1) 0° (2) 45° 
 (3) 90° (4) 180° 
 
12. ’ðâÿå˜µð Åé´™²µåêÔå ÜÈå’åëÏ¤¯ó ÄåÑ–Ó 

(ÔåêÒ´µåÑÁµåÑ–Ó) ×ðÐéº²ìåêÑ–Ó²µåêÔå 
’ðÇÈæÜÝ®²µó ×åêÁµåÂÃ ÇÈåÐ½²µðëéÁ·µåÁµðë´µåÄð …Áµð. 
ÜÈå’åëÏ¤¯ó (ÔåêÒ´µåÑ) ÄåÑ–ÓÄå ÕÁµåêÏ¼åê¾ 

 
 (1) 0.294 mA  
 (2) 2.94 mA 
 (3) 29.4 mA  
 (4) 294 mA 

13. ÜÈðñÄó ¼å²µåÒ˜µåÁµå ÔðîéÑð±é¦ÿó …ÁµåêÂ              
V = Vpsin wt ÄåêÆ ƒÄåÖÎêÜÈåÑæ˜™Áµð, 
‘C’ ’ðÇÈæÜÝ®²µó Äå ƒ´µå¶Ñæ˜™²µåêÔåÒ¼ð, 
’ðÇÈæÜÝ®²µó ÄåÑ–ÓÄå ÕÁµåêÏ¼ó àé²™’ð²ìåê 
ÜÈå²µæÜÈå²™ ÔåìòÑÏÔåíú 

 (1) 0  
 (2) Vp

2/C 
 (3) CVp

2  
 (4) 2CVp

2 
 
14. ’ðâÿå˜µð Åé´µåÑæ˜™²µåêÔå ÔåêÒ´µåÑÁµåÑ–Ó R3 µ̃ð 

ƒ´µå¶ÑæÁµå ˜µå²™ÚÈå³ ÔðîéÑð±é¦ê ŠÚÈåê± ? 

 
 (1) 1.2 V  
 (2) 12 V 
 (3) 7 V  
 (4) 5 V 
 
15. ÜÈåÒÔåßåÄå’æ”˜™ ÊâÿåÜÈåÑæ˜µåêÔå LCR 

ÔåêÒ´µåÑÁµå ‡¼å¾Ôåê ×åï½˜µæ˜™ ’ðâÿå˜™Äå 
²ìåìæÔå ÜÈåÒ²ìðëé¦Äð²ìåêÄåêÆ „²™ÜÈåÊßåêÁµåê ? 

 (1) R = 20 Ω, L = 1.5 H Ôåê¼åê¾          
C = 35 μF 

 (2) R = 25 Ω, L = 2.5 H Ôåê¼åê¾         
C = 45 μF 

 (3) R = 15 Ω, L = 3.5 H Ôåê¼åê¾          
C = 30 μF 

 (4) R = 25 Ω, L = 1.5 H Ôåê¼åê¾         
C = 45 μF 

10 Fμ 120 Ω I

100 V  50 Hz−

R1

1.2 V
R 2
5.8 V

R 3

Vp  = 12 V
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9. Reynold’s number (k) for steady 
flow of fluids in cylindrical 
pipes is 

 (1) less than 2200 
 (2) greater than 2200 
 (3) equal to 2220 
 (4) greater than 22000 
 
10. A spherical liquid drop of radius 

R is divided into eight equal 
droplets. If surface tension is T, 
then the work done in this 
process is, 

 (1) 2πR2T (2) 3πR2T 
 (3) 4πR2T (4) 2πRT2 
 
11. What is the phase angle between 

two alternating waves of equal 
frequency when one wave attains 
maximum value and the other is 
at zero value ? 

 (1) 0° (2) 45° 
 (3) 90° (4) 180° 
 
12. In the given circuit, a capacitor 

is in series with a pure 
resistance. The current in the 
circuit is 

 
 (1) 0.294 mA  
 (2) 2.94 mA 
 (3) 29.4 mA  
 (4) 294 mA 

13. If a sinusoidal voltage V = Vpsin wt 
is applied across a capacitor ‘C’, 
the average value of power 
dissipated in the capacitor is 

 (1) 0  
 (2) Vp

2/C 
 (3) CVp

2  
 (4) 2CVp

2 
 

14. What is the peak voltage across 
R3 in the given circuit ? 

 
 (1) 1.2 V  
 (2) 12 V 
 (3) 7 V  
 (4) 5 V 
 
15. Which of the following 

combinations should be selected 
for better toning of an LCR  
circuit used for communication ? 

 (1) R = 20 Ω, L = 1.5 H and          
C = 35 μF 

 (2) R = 25 Ω, L = 2.5 H and         
C = 45 μF 

 (3) R = 15 Ω, L = 3.5 H and          
C = 30 μF 

 (4) R = 25 Ω, L = 1.5 H and         
C = 45 μF 

10 Fμ 120 Ω I

100 V  50 Hz−

R1

1.2 V
R 2
5.8 V

R 3

Vp  = 12 V
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16. §ÊÌ †¦ê˜µæ²µåÄåê ˜µåÒ¯ð˜µð 5 “.Õê. 
ßå²™²ìåêêÔå 500 Õêé. Äå ÄåÁ™²ìåêÄåêÆ 
Áµæ®Ñê Ê²ìåêÜÈåê¼æ¾ÜÈð. ƒÔåÄå Ôðé˜µåÔåíú 
Åé²™˜µåÄåê˜µåê¸Ôæ˜™ ˜µåÒ¯ð˜µð 3 km/hr. 
ÄåÁ™²ìåêÄåêÆ Áµæ®Ñê ¼ð˜µðÁµåê’ðëÒ´µå 
ƒÑæÉÔåÁ·™ Ôðéâÿð²ìåêê 

 (1) 6 ÅÕêÚÈå˜µåâÿåê  
 (2) 7.5 ÅÕêÚÈå˜µåâÿåê 
 (3) 10 ÅÕêÚÈå˜µåâÿåê 
 (4) 20 ÅÕêÚÈå˜µåâÿåê 
 

17. B & A
rr

 ŠÒÊ Š²µå´µåê Ôð’å±²µó˜µåâÿå ____ 
‡¼åÉÄåÆÁµå ÇÈåÐÔåìæ¸Ôåíú …Áµæ˜™²µåêÔåíúÁ™ÑÓ.  

 (1) AB ˜™Ò¼å ’å´™Ôðê  
 (2) AB ˜µð ÜÈåÔåê  
 (3) AB ˜™Ò¼å ƒÁ·™’å  
 (4) ÔæÏ•ÿæÏÅÜÝÁµð  
 

18. §ÒÁµåê Ê–ÒÁµåêÕÄå ÔðêéÑð Š²µå´µåê ÊÑ˜µåâÿåê 
Ôå½¤ÜÈåê½¾Ôð. ÇÈåÐ½²ìðëÒÁµåê ÊÑÁµå 
ÇÈåÐÔåìæ¸Ôåíú 2N Ôåê¼åê¾ ƒÔåíú˜µåâÿå 
ÇÈå²™¹æÔåê’åÔåíú (Resultant) ÜÈåßæ 2N 
„˜™Áµð. Š²µå´µåê ÊÑ˜µåâÿå Äå´µåêÔå¸ ’ðëéÄåÔåíú 

 (1) 0° (2) 90° 
 (3) 60° (4) 120° 
 

19. A = ⎥
⎦

⎤
⎢
⎣

⎡ −
02

2  0
 …²µåêÔå ÕÚÈåÔåê ÜÈåÔåêÕê½-

²ìåêÄåêÆ ÊâÿåÜÝ ÑÒÊ’ðëéÅé²ìåê orthogonal 
Ôåìæ¼åï’ð²ìåêÄåêÆ ²µå¡ÜÝ.   

 (1) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−

−−

5
3

5
4

5
4

5
3  

  (2) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−
5
3

5
4

5
4

5
3  

  

 (3) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

5
4

5
3

5
3

5
4  

  (4) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−−

−−

5
4

5
3

5
3

5
4  

  

20. 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−−
−−

−−

bac2c2c
2bacb2b
2a2acb a

  

 Ôåìæ¼åï’ð²ìåêê ‹’åÔðêéÔå „˜µåêÔåíúÁµåê 
àé˜™ÁµæÂ˜µå 

 (1) a – b = 0 
 (2) a + b = 0 
 (3) a + b + c  = 0 
 (4) a = 0 
 
21. ____ ÇÈæÑ–Ôåê²µðñÜÈðéÚÈåÄóÅÒÁµå ÇÈæÑ–Á¿·™éÄó 

¼å²ìåìæ²™ÜÈåÑÉ´µåêÔåíúÁµåê 

 (1) CH3 – CH3 

 (2) CH3 = CH – Cl 

 (3) CH2 = CH2 

 (4) CH3 – CH2– OH 

 
22. SN2 ÇÈåÐ½“Ð²ìðê²ìåê Áµå²µå Å²ìåêÔåêÁµåÑ–Ó Áµå²µå 

= k [CH3I] [OH]. §ÒÁµåê Ôðéâÿð CH3I 
²ìåê ÜÈæÒÁ™Ðé’å²µå¸Ôåíú ÁµåêÇÈåÉ¯æ±˜™ Ôåê¼åê¾ 

HO Ôåíú ƒÁ·µå¤ÔæÁµåÑ–Ó ÇÈåÐ½“Ð²ìðê²ìåê 
Áµå²µåÁµå ÔðêéÑð ²ìåìæÔå ÇÈå²™¹æÔåê 

‡Ò¯æ˜µåê¼å¾Áµð ? 

 (1) Áµå²µåÔåíú Š²µå´µå²µåÚÈåê± Ôðé˜µåÔæ˜µåê¼å¾Áµð. 

 (2) Áµå²µåÔåíú ÄæÑ”²µåÚÈåê± Ôðé˜µåÔæ˜µåê¼å¾Áµð. 

 (3) ÇÈåÐ½“Ð²ìðê²ìåê Áµå²µåÁµåÑ–Ó ²ìåìæÔå 
ÊÁµåÑæÔå¹ð²ìåêê …²µåêÔåíúÁ™ÑÓ. 

 (4) Áµå²µåÔåíú ƒÁ·µå¤ÁµåÚÈæ±˜µåê¼å¾Áµð. 
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16. A swimmer wishes to cross a 
500 m river flowing at 5 km/hr. 
His speed with respect to water 
is 3 km/hr. The shortest time 
taken to cross the river is  

 (1) 6 minutes  
 (2) 7.5 minutes 
 (3) 10 minutes  
 (4) 20 minutes 
 
17. The magnitude of the vector 

product of two vectors B & A
rr

 
cannot be 

 (1) less than AB 
 (2) equal to AB 
 (3) greater than AB 
 (4) defined 
 
18. If two forces are acting at a point, 

the magnitude of each force is 
2N and the magnitude of their 
resultant is also 2N. The angle 
between the two forces will be 

 (1) 0° (2) 90° 
 (3) 60° (4) 120° 
 
19. Construct an orthogonal matrix 

using the skew symmetric matrix 

A = ⎥
⎦

⎤
⎢
⎣

⎡ −
02
2  0

    

 (1) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−

−−

5
3

5
4

5
4

5
3  

  (2) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−
5
3

5
4

5
4

5
3  

  

 (3) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

5
4

5
3

5
3

5
4  

  (4) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−−

−−

5
4

5
3

5
3

5
4  

  

20. The matrix 

 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−−
−−

−−

bac2c2c
2bacb2b
2a2acb a

  

 is singular if, 
 (1) a – b = 0 
 (2) a + b = 0 
 (3) a + b + c  = 0 
 (4) a = 0 
 
21. Polythene is manufactured by 

the polymerisation of 
 (1) CH3 – CH3 

 (2) CH2 = CH – Cl 

 (3) CH2 = CH2 

 (4) CH3 – CH2– OH 

 
22. The rate law of SN2 reaction is  

 Rate = k [CH3I] [OH]. What will 
be the effect on the rate of the 
reaction if the concentration of  
CH3I is doubled and that of HO  
is halved ? 

 (1) The rate becomes two times 
faster. 

 (2) The rate becomes four 
times faster. 

 (3) No change in the reaction 
rate. 

 (4) The rate becomes half. 
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23. ²µðªêñ˜µåÓ²µó – Äå¯æ± Ôðé˜µåÔåÁ·µå¤’åÔåíú …Áµå²µå 
ÜÈåÒ²ìåêê’å¾Ôæ˜™Áµð. 

 (1) (C2H5)3Al Ôåê¼åê¾ ZnCl2 

 (2) (CH3)3Al Ôåê¼åê¾ CuCl2 

 (3) (C2H5)3Al Ôåê¼åê¾ TiCl4 

 (4) (C2H5)3Al Ôåê¼åê¾ AlCl3 

 
24. ÇÈåÐ½“Ð²ìðê²ìåêÄåêÆ ÇÈå²™˜µåºÜÝ. 

 CH3 – – CH3 + KOH →                      

X + KBr + H2O 

 ÔðêéÑ–Äå ÜÈåÕêé’å²µå¸ÁµåÑ–Ó X ŠÒÊêÁµåê 

 (1) CH3 –  – CH3  

 (2) CH3 – CH = CH2  

 (3) CH3 – CH2 – CH2 – OH 

 (4) CH3 – CH2 – CH2 – Br 

 

25.  +NaNH2

liq NH3 ⎯⎯⎯→  

 ÔðêéÑ–Äå “Ð²ìðê²ìåêÑ–Ó §âÿå˜µðëÒ´™²µåêÔå 
“Ð²ìåìæÕÄæÏÜÈå 

 (1) ÜÈðéÇÈå¤´µð-ÊðéÇÈå¤´µð “Ð²ìåìæÕÄæÏÜÈå 

 (2) ÊðéÇÈå¤´µð-ÜÈðéÇÈå¤´µð “Ð²ìåìæÕÄæÏÜÈå 

 (3) SN2 “Ð²ìåìæÕÄæÏÜÈå 

 (4) E' “Ð²ìåìæÕÄæÏÜÈå ð 

26. +   
Δ

⎯⎯→  X 

 ÔðêéÑ–Äå ÇÈåÐ“Ð²ìðê²ìåêÑ–Ó X Äå ‡¼åÉÄåÆÔåíú 

 
(1)

  
(2)

  

 
(3)

  (4)  

 

27. CH2 = CH –
 

= CH2 ÜÈåÒ²ìåêê’å¾Áµå 

IUPAC ßðÜÈå²µåê 

 (1) 3-ÕêéÁ¿·µðñÑó-2,3- ÊêÏ¯æ´™éÄó 

 (2) 2- ÕêéÁ¿·µðñÑó-1,3- ÊêÏ¯æ´™éÄó 

 (3) 3- ÕêéÁ¿·µðñÑó-1,3- ÊêÏ¯æ´™éÄó 

 (4) 2- ÕêéÁ¿·µðñÑó-1,4-ÊêÏ¯æ´™éÄó 

 

28.  + CH3 – CH2 – Cl ⎯→  

  + HCl 

 ÔðêéÑ–Äå ÇÈåÐ½“Ð²ìðê²ìåêÑ–Ó ÊâÿåÜÈåÑæÁµå 

Ôðé˜µåÔåÁ·µå¤’åÔåíú 

 (1) ŠÄó ßðñ´µåÐÜÈó CaCl2 

 (2) ZnCl2 

 (3) AlCl3 

 (4) ŠÄó ßðñ´µåÐÜÈó AlCl3 

CH
|
Br  

CH
|
OH 

Br NH2

Cl

Cl Cl

Cl Cl

C
|
CH 

3

CH   CH− 32
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23. Zeigler – Natta catalyst is a 
complex of 

 (1) (C2H5)3Al & ZnCl2 

 (2) (CH3)3Al & CuCl2 

 (3) (C2H5)3Al & TiCl4 

 (4) (C2H5)3Al & AlCl3 

 

24. Consider the reaction 

 CH3 – – CH3 + KOH →                      

X + KBr + H2O 

 X in the above equation is 

 (1) CH3 –  – CH3  

 (2) CH3 – CH = CH2  

 (3) CH3 – CH2 – CH2 – OH 

 (4) CH3 – CH2 – CH2 – Br 

 

25. +NaNH2

liq NH3 ⎯⎯⎯→  

 The mechanism involved in the 
above reaction is  

 (1) Addition-elimination 
mechanism. 

 (2) Elimination-addition 
mechanism. 

 (3) SN2 mechanism 

 (4) E' mechanism 

26.  

 The product X in the above 
reaction is 

 
(1)

  
(2)

  

 
(3)

  (4)  

 

27. The IUPAC name of the 
compound  

 CH2 = CH –
 

= CH2 is, 

 (1) 3-methyl-2,3-butadiene 

 (2) 2-methyl-1,3-butadiene 

 (3) 3-methyl-1,3-butadiene 

 (4) 2-methyl-1,4-butadiene 

 

28.  + CH3 – CH2 – Cl ⎯→  

 + HCl 

 The catalyst used in the above 
reaction is 

 (1) Anhydrous CaCl2 

 (2) ZnCl2 

 (3) AlCl3 

 (4) Anhydrous AlCl3 

CH
|
Br  

CH
|
OH 

Br NH2

Cl Cl

Cl Cl

C
|
CH 

3

CH   CH− 32
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29. FeCl3 ‡ÇÈåÜÝÀ½²ìåêÑæÓ˜µåêÔå 
’ðëÓé²™ÄðéÚÈåÄó ÔðêéÑæ˜µåêÔå ¯ðëÑëÏÄó 
…ÁµåÄåêÆ ²µåëÇÝÜÈåê¼å¾Áµð 

 (1) o-’ðëÓé²µðëé¯ðëÑëÏÄó   
 (2) p-’ðëÓé²µðëé¯ðëÑëÏÄó Ôåê¼åê¾           

m-’ðëÓé²µðëé¯ðëÑëÏÄó 
 (3) m-’ðëÓé²µðëé¯ðëÑëÏÄó 
 (4) o-’ðëÓé²µðëé¯ðëÑëÏÄó Ôåê¼åê¾             

p-’ðëÓé²µðëé¯ðëÑëÏÄó  
 

30. 
fuming HNO3 ⎯⎯⎯⎯⎯⎯→  X 

 ÔðêéÑ–Äå ÇÈåÐ½“Ð²ìðê²ìåêÑ–Ó X „˜™²µåêÔåíúÁµåê 
 

 

(1)

  
 

 

(2)

  
 

 

(3)

  
 

 

(4)

  

31. SN1 ²ìåìæÒ½Ð’å ²µåôåÄðÎêÒÁµæÁµå ƒÑð”þñÑó 
ßæÑðñ´µó˜µåâÿå ÇÈåÐ½“Ð²ìðê²ìåê ’åÐÔåêÔåíú        

(1°-ÇÈæÐÁ¿·µåÕê’å ƒÑð”þñÑó ßæÑðñ´µó,        

2°-Á™Ö½é²ìåê ƒÑð”þñÑó ßæÑðñ´µó,           

3°-¼åï½é²ìåê’å ƒÑð”þñÑó ßæÑðñ´µó) 

 (1) 3° > 2° > 1° 
 (2) 1° > 2° > 3° 
 (3) 2° > 1° > 3° 
 (4) 1° > 3° > 2° 
 
32. ƒÑð”þñÑó ßæÑðñ´µóÅÒÁµå ƒÑð”þñÑó 

ŒÜÈðëéÜÈå²ìåêÄðñ´µó ÄåêÆ ÇÈå´µð²ìåêÑê ÊâÿåÜÈåêÔå 
’æ²µå’åÔåíú _____. 

 (1) KCN  
 (2) HCN 
 (3) AgCN  
 (4) NaCN 
 
33. SN1 ÇÈåÐ½“Ð²ìðê²ìåêÑ–Ó ²µåëÇÈåíú ¼åâÿð²ìåêêÔå 

ÔåêÁ·µåùÏÒ¼å²µå „’æ²µåÔåíú 
 (1) ’æÊð¤éÅ²ìåêÄó 
 (2) Ôåêê’å¾ ²µæÏ´™’åÑó  
 (3) ƒôåÑ ²µæÏ´™’åÑó 
 (4) ’æÊðë¤éÄðéÚÈåÄó  
 
34. ÇÈåÐÊÑ ÇÈåÐ¼æÏÔåêÓÁ™ÒÁµå 2 ’ðëÓé²µðëé-

ÊêÏ¯ðéÄó ˜µåâÿå ´™ßðñ´µðëÐßæÑðëé¨ÄðéÚÈåÄó 
ÅÒÁµå ÇÈå´µð²ìåêÑæÁµå ‡¼åÉÄåÆÁµå ÜÈåÖ²µåëÇÈåÔåíú 

 (1) CH2 = CH – CH2 – CH3  
 (2) CH3 – CH = CH – CH3 
 (3) CH2 = CH – CH = CH2 
 (4) CH2 = C = CH – CH3 

CH3

CH3

NO2

NO2

NO2

CH3

NO2

NO2

O2N

CH3

NO2 NO2

NO2

CH3
NO2 NO2

NO2
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29. Toluene on chlorination in the 
presence of FeCl3 forms 

 (1) o-chlorotoluence  
 (2) p-chlorotoluene and           

m-chlorotoluene 
 (3) m-chlorotoluene 
 (4) o-chlorotoluene and             

p-chlorofoluene  
 

30. 
fuming HNO3 ⎯⎯⎯⎯⎯⎯→  X 

 X in the above reaction is  
 

 

(1)

  
 

 

(2)

  
 

 

(3)

  
 

 

(4)

  

31. The order of reactivity of alkyl 
halides by SN1 mechanism is      
(1° – primary alkyl halide,             
2° – secondary alkyl halide,       
3° – tertiary alkyl halide) 

 (1) 3° > 2° > 1° 
 (2) 1° > 2° > 3° 
 (3) 2° > 1° > 3° 
 (4) 1° > 3° > 2° 
 
32. The reagent used to get alkyl 

isocyanides from alkyl halides is 
 (1) KCN  
 (2) HCN 
 (3) AgCN  
 (4) NaCN 
 
33. The intermediate species formed 

in SN1 reaction is  

 (1) carbanion 
 (2) free radical  
 (3) stable radical 
 (4) carbonation 
 
34. The structure of the product 

obtained from dehydrohalogenation 
of 2-chlorobutane by strong base is, 

 (1) CH2 = CH – CH2 – CH3  

 (2) CH3 – CH = CH – CH3 

 (3) CH2 = CH – CH = CH2 

 (4) CH2 = C = CH – CH3 

CH3

CH3

NO2

NO2

NO2

CH3

NO2

NO2

O2N

CH3

NO2 NO2

NO2

CH3
NO2 NO2

NO2
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35. 1-ÊêÏ°éÄó ˜µð 1-ÔðëéÑó HCl Äå 
ÜÈåÒ²ìðëé˜µåÁ™ÒÁµå ÇÈå´µð²ìåêÑæÁµå Ôåêê•Ï 
‡¼åÉÄåÆÔåíú 

 (1) 2-’ðëÓé²µðëéÊêÏ¯ðéÄó  

 (2) 1-’ðëÓé²µðëéÊêÏ¯ðéÄó 

 (3) 2-’ðëÓé²µðëé-l-ÊêÏ°éÄó 

 (4) 3-’ðëÓé²µðëé-l-ÊêÏ°éÄó 

 
36. SN2 ÇÈåÐ½“Ð²ìðê²ìåê¼å¾ ’ðâÿå˜™Äå ÜÈåÒ²ìåêê’å¾Áµå 

ÇÈåÐ½“Ð²ìåìæ¼åÍ’å¼ð²ìåê ’åÐÔåêÔðéÄåê ? 

 1. 1-ÊðëÐéÔðëéÊêÏ¯ðéÄó 

 2. 2- ÊðëÐéÔðëéÊêÏ¯ðéÄó 

 3. 1-ÊðëÐéÔðëé-2-ÕêéÁ¿·µðñÑó 
ÇÈðîÐÇÈðéÄó 

 4. 2-ÊðëÐéÔðëé-2-ÕêéÁ¿·µðñÑó 
ÇÈðîÐÇÈðéÄó 

 ’ðâÿå˜™Äå ÜÈåÒ’ðé¼å˜µåâ–ÒÁµå ÜÈå²™²ìåìæÁµå 

‡¼å¾²µåÔåÄåêÆ „²™ÜÝ : 

 (1) 1 < 3 < 2 < 4 
 (2) 2 < 3 < 4 < 1 
 (3) 4 < 1 < 3 < 2 
 (4) 4 < 2 < 3 < 1 
 
37. ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ÜÈåÒ¡¼å ´µå²ìðêéÄó 

(diene) ²ìåìæÔåíúÁµåê ? 

 (1) 1,3-ÊêÏ¯æ´™éÄó  

 (2) 1,4-ÇÈðÒ¯æ´™éÄó  

 (3) 1,2-ÊêÏ¯æ´™éÄó 

 (4) 1,3-ÇÈðÒ¯æ´™éÄó 

38. ’ðâÿå˜™Äå ²ìåìæÔå ÜÈåÒ²ìåêê’å¾˜µåâÿåê 
ÇÈåÐ½“Ð²ìðê²ìåêÑ–Ó ²µåëÇÈåíú˜µðëâÿåêäÔå 
ÔåêÁ·µåùÏÒ¼å²µå ÊðÄó¨éÄóÄåêÆ à´™Á™´µåê¼å¾Áµð ? 

 
(1)

  

 
(2)

  

 
(3)

  

 
(4)

  
 

39. ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ’ðëÓé²µðëéÊðÄó¨ÄóÄå 
ÜÝÁµåÂÃÇÈå´™ÜÈåêÕ’ð²ìåê ÜÈå²™²ìåìæÁµå ÇÈåÐ½“Ð²ìðê 
²ìåìæÔåíúÁµåê ? 

 (1) +Cl2
Fecl3 ⎯⎯→ + HCl 

 (2) +Cl2
Zncl2 ⎯⎯→ + HCl 

 (3) +Cl2
Cacl2 ⎯⎯→ + HCl 

 (4) +Cl2
Nacl

 ⎯⎯→ + HCl 

 
40. ŠÑð’ðë±øéÇ·ÝÑ–’ó ÇÈå²ìåìæ¤²ìåê ÇÈåÐ½“Ð²ìðê˜µð 

’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê ‡Áµæßå²µå¹ð-
²ìåìæ˜™Áµð ? 

 (1) ÕêéÁ¿·µðéÄó Äå ’ðëÓé²™ÄðéÚÈåÄó 

 (2) ÊðÒ¨éÄó Äå Äðñ¯ðÐéÚÈåÄó  

 (3) ƒÑ–”éÄóÞ˜µåâÿå ßðñ´µðëÐé¨ÄðéÚÈåÄó 

 (4) ƒÑðë”éßæÑó ˜µåâÿå ´™ßðñ´µðÐéÚÈåÄó 
(Å¦¤Ñ–é’å²µå¸) 

CH3

Cl

Cl

Cl

Cl
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35. The chief product obtained by 
the addition of 1-mole of HCl to 
1-butene is, 

 (1) 2-chlorobutane 

 (2) 1-chlorobutane 

 (3) 2-chloro-l-butene 

 (4) 3-chloro-l-butene 

 

36. What is the order reactivity of 
the following compound towards 
SN2 reaction ? 

 1. 1-bromobutane 

 2. 2-bromobutane 

 3. 1-bromo-2-methyl propane 

 4. 2-bromo-2-methyl propane 

 Choose the correct answer by 
using the following codes : 

 (1) 1 < 3 < 2 < 4 

 (2) 2 < 3 < 4 < 1 

 (3) 4 < 1 < 3 < 2 

 (4) 4 < 2 < 3 < 1 

 

37. Which of the following is 
cumulated diene ? 

 (1) 1,3-butadiene 

 (2) 1,4-pentadiene 

 (3) 1,2-butadiene 

 (4) 1,3-pentadiene 

38. The intermediate benzyne 
formed in a reaction can be 
trapped by which of the 
following compounds ? 

 
(1)

  

 
(2)

  

 
(3)

  

 
(4)

  
 
39. Which among the following is 

the correct reaction for the 
preparation of Chlorobenzene ? 

 (1) +Cl2
Fecl3 ⎯⎯→ + HCl 

 (2) +Cl2
Zncl2 ⎯⎯→ + HCl 

 (3) +Cl2
Cacl2 ⎯⎯→ + HCl 

 (4) +Cl2
Nacl

 ⎯⎯→ + HCl 

 
40. Which among the following is 

an example of electrophilic 
substitution reaction ? 

 (1) Chlorination of methane 
 (2) Nitration of benzene 
 (3) Hydrogenation of alkenes 
 (4) Dehydration of alcohols  

CH3

Cl

Cl

Cl

Cl
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41. 2.31212 ²µå ƒ’å²µåº (rational) ²µåëÇÈå 

 (1) 
330
763  (2) 

330
761  

 (3) 
330
767  (4) 

331
763  

 

42. 211. , 7 , 2.28 Ôåê¼åê¾ 4−
ÜÈåÒ•ÿðÏ˜µåâ–˜µð ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê 
ÜÈå²™ ßðëÒÁµåê¼å¾Áµð ? 

 (1) ƒ’å²µåº, ƒÊ·æ˜µåÑÊÂÃ, ƒ’å²µåº Ôåê¼åê¾ 
ÜÈåÒ“é¸¤ ÜÈåÒ•ÿðÏ˜µåâÿåê 

 (2) ƒÊ·æ˜µåÑÊÂÃ, ƒ’å²µåº, ÜÈåÒ“é¸¤ 
ÜÈåÒ•ÿðÏ, ƒ’å²µåº ÜÈåÒ•ÿðÏ 

 (3) ƒ’å²µåº, ƒÊ·æ˜µåÑÊÂÃ, ÜÈåÒ“é¸¤, 
ƒ’å²µåº ÜÈåÒ•ÿðÏ 

 (4) ÜÈåÒ“é¸¤, ƒ’å²µåº, ƒÊ·æ˜µåÑÊÂÃ, 
ƒ’å²µåº ÜÈåÒ•ÿðÏ 

 

43. 
32
7,

16
1,

4
3,

8
5 ,

2
1 Ê–·ÄåÆ²µæØ˜µåâ–˜µð 

’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê ÜÈå²™²ìåìæÁµåêÁµåê ?  

 (1) 
32
7

16
1

4
3

8
5 

2
1

<<<<  

 (2) 
2
1

4
3

32
7

16
1

8
5

<<<<  

 (3) 
4
3

8
5

2
1

32
7

16
1

<<<<  

 (4) 
16
1

4
3

8
5

2
1

32
7

<<<<
 

 

44. A = {x/x ŠÒÊêÁµåê ÇÈåî¹æ¤Ò’å, 1 ≤ x 
≤ 40} Ôåê¼åê¾ B = {x/x ŠÒÊêÁµåê 

ÇÈåî¹æ¤Ò’å, 21 ≤ x ≤ 100} 
 A ∩ B ˜µð ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê 

ÜÈå²™²ìåìæÁµåêÁµåê ? 
 (1) 40 ≤ x ≤ 100  
 (2) 1 ≤ x ≤ 100 
 (3) 21 ≤ x ≤ 40  
 (4) ÔðêéÑ–Äå ²ìåìæÔåíúÁµåê ƒÑÓ  

45. n(A) = 115, n(B) = 326 Ôåê¼åê¾              
n(A – B) = 47, „Áµæ˜µå n (A∪B) µ̃ð 
’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê ÜÈå²™²ìåìæ˜™Áµð ? 

 
 (1) 373  
 (2) 165 
 (3) 370  
 (4) ÔðêéÑ–Äå ²ìåìæÔåíúÁµåê ƒÑÓ 
 

46. §ÒÁµåê ÇÈå²™é’ðÛ²ìåêÑ–Ó Õ¦ÿæöÄåÁµåÑ–Ó ×ðé. 30 
²µåÚÈåê± ÕÁµæÏÁ¿·™¤˜µåâÿåê ƒÄåê½¾é¸¤²µæ˜™ÁµæÂ²µð, 
×ðé. 25 ²µåÚÈåê± …½ßæÜÈåÁµåÑ–Ó Ôåê¼åê¾ ×ðé. 15 
²µåÚÈåê± Š²µå´µåê ÕÚÈå²ìåê˜µåâÿåÑ–Ó²ìåêë 
ƒÄåê½¾é¸¤²µæÁµåÑ–Ó, ‡½¾é¸¤²µæÁµåÔå²µå 
×ðé’å´µæÔæ²µåê ŠÚÈåê± ? 

 (1) 62% (2) 52% 
 (3) 60% (4) 40% 
 

47. 7½, 5/3, 5/6 ²µå Ôåê.ÜÈæ.ƒ. Ôåíú  
 (1) 5/3 (2) 5/12 
 (3) 5/6 (4) 5/36 
 

48. §ÒÁµåê ÜÈåÔåìæÒ¼å²µå ×ðÐé ·́™²ìåêÑ–Ó (AP)²ìåêÑ–ÓÄå 
25 ÕÁµæÏÁ¿·™¤˜µåâÿå §®ê± Ôå²ìåêÜÈåêÞ 400 
ÔåÚÈå¤˜µåâÿåê, ÜÈæÔåìæÄåÏ ÔåÏ¼æÏÜÈå 1 ½Ò˜µåâÿåê 
Ôåìæ¼åÐ …Áµð. ƒ¼åÏÒ¼å “²™²ìåê Ôåê¼åê¾ 
à²™²ìåê²µå Ôå²ìåêÜÈåêÞ …ÚÈæ±˜™²µåÊßåêÁµåê ? 

 (1) 16, 17 (2) 15, 17 
 (3) 17, 15 (4) 17, 16 
 

49. 20, ,
4
119  ,

2
118  

4
317

 
’åÐÔåêÁµåÑ–Ó ÔðëÁµåÑ 

‰ê¹æ¼åÍ’å ÜÈåÒ•ÿðÏ ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó 
²ìåìæÔåíúÁµåê ? 

 (1) 27th   
 (2) 28th 
 (3) 29th  
 (4) ÔðêéÑ–Äå ²ìåìæÔåíúÁµåê ƒÑÓ 
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41. The rational form of 2.31212, 
........ is, 

 (1) 
330
763  (2) 

330
761  

 (3) 
330
767  (4) 

331
763  

 
42. Which of the following is correct 

for the numbers 211. , 7 , 2.28 
and 4−  

 (1) Rational, Irrational, Rational, 
Complex number. 

 (2) Irrational Rational, Complex 
number, Rational number. 

 (3) Rational, Irrational, Complex, 
Rational number. 

 (4) Complex, Rational, Irrational, 
Rational number.  

 

43. For the fractions 
32
7,

16
1,

4
3,

8
5 ,

2
1  

which of the following is true ?  
 (1) 

32
7

16
1

4
3

8
5 

2
1

<<<<  

 (2) 
2
1

4
3

32
7

16
1

8
5

<<<<  

 (3) 
4
3

8
5

2
1

32
7

16
1

<<<<  

 (4) 
16
1

4
3

8
5

2
1

32
7

<<<<
 

 
44. If A = {x/x is an integer, 1 ≤ x ≤ 

40} and B = {x/x is an integer, 21 
≤ x ≤ 100}, 

 Then which of the following true 
for        A ∩ B ? 

 (1) 40 ≤ x ≤ 100  
 (2) 1 ≤ x ≤ 100 
 (3) 21 ≤ x ≤ 40  
 (4) None of these 

45. If n(A) = 115, n(B) = 326 and               
n(A – B) = 47, which of the 
following is correct for n (A∪B) 

 
 (1) 373  
 (2) 165 
 (3) 370  
 (4) None of these 
 
46. In an examination 30% of the 

students failed in science, 25% 
failed in history and 15% failed 
in both, what is the pass 
percentage ? 

 (1) 62% (2) 52% 
 (3) 60% (4) 40% 
 
47. HCF of 7½, 5/3, 5/6 is  
 (1) 5/3 (2) 5/12 
 (3) 5/6 (4) 5/36 
 
48. The total ages of 25 students in 

AP is 400 years with common 
difference of 1 month only. 
What would be the age of 
youngest and eldest one ? 

 (1) 16, 17 (2) 15, 17 
 (3) 17, 15 (4) 17, 16 
 
49. Which term of the sequence 20, 

,
4
119  ,

2
118  

4
317 .........

 
is the first 

negative term  
 (1) 27th   
 (2) 28th 
 (3) 29th  
 (4) None of these  
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50. 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡ −

100
210
321

 Äå ÕÑðëéÔåêÔåíú 

 (1) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−
100
210

721
  

 (2) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−

−

100
210

721
  

 (3) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−
−−−

100
210
721

  

 (4) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−

−−

100
210

721
 

 
 
51. ÔåÏ¼æÏÜÈå (variance) 16 „˜™ÁµåêÂ, 

ÜÈåÒ•ÿðÏ˜µåâÿåê 20 „˜™ÁµåêÂ, ÜÈåÒ•ÿðÏ˜µåâÿå Ôðë¼å¾Ôåíú 
160 „˜™ÁµåÂÑ–Ó ÔåìæÇÝ¤Äå ˜µåê¹æÒ’åÁµå 
ÔåìòÑÏ ŠÚÈåê± ? 

 (1) 50% (2) 49% 
 (3) 50.1% (4) 51% 
 
52. §ÒÁµåê Å²ìåê¼å’æÑ–’åÁµåÑ–Ó A, B Ôåê¼åê¾ C 

˜µåâÿå 3 ÚÈðé²µåê˜µåâÿå ÊðÑð ‹²™â–¼å˜µåâÿå 
Áµå¼æ¾Ò×åÔåíú ’ðâÿå˜™ÄåÒ½Áµð. 

ÚÈðé²µåê 
ÜÈå²µæÜÈå²™ 
ÊðÑð (`) 

ÔåìæÄå’å 
ÕôåÑÄð 

A 18 5.4 
B 22.5 4.5 
C 24 6 

 ÇÈåÐÜÈåê¾¼åÁµåÑ–Ó ÅéÔåíú ²ìåìæÔå ÚÈðé²µåÄåêÆ ½é²™’ð 
(dispose) Ôåìæ´µåÑê Ê²ìåêÜÈåêÕ²™ ? 

 (1) A (2) B 
 (3) C (4) ²ìåìæÔåíúÁµåë ƒÑÓ 

53. §ÒÁµåê ÔåìæÑó ÄåÑ–Ó P, Q, R, S 
‡¼åÉÄåÆ˜µåâÿå ÔåìæÜÝ’å Êðé´™’ð²ìåê ÜÈå²µæÜÈå²™ 
Ôåê¼åê¾ ÔåìæÄå’å ÕôåÑÄð²ìåê Áµå¼æ¾Ò×åÔåíú † 
’ðâÿå˜™ÄåÒ½Áµð. 

‡¼åÉÄåÆ P Q R S 

ÜÈå²µæÜÈå²™ Êðé´™’ð 60 90 80 120 

Ôåìæ.ÕôåÑÄð 12 25 32 16 

 ²ìåìæÔå ‡¼åÉÄåÆÁµå Êðé´™’ð²ìåêê ÜÝÀ²µåÔæ˜™Áµð ?   

 (1) P (2) Q 
 (3) R (4) S 
 
54. §ÊÌ ÔåìæÏÄðé¦²µó Äåê ˜µæÐßå’å²µå „ÁµåÏ¼ð²ìåê 

ÅÁ™¤ÚÈå± ÄåÔåêëÄð²ìåêÄåêÆ ½â–²ìåêÑê „ÜÈå“¾ 
ÔåàÜÝÁµåêÂ, ÄåÕéÄå ÜÈå²µå’åê˜µåâÿå 
Ôåìæ²µåê’å¯ð±²ìåêÑ–Ó ’ðâÿå˜™Äå ²ìåìæÔå 

ÜÈå²µæÜÈå²™²ìåêÄåêÆ ÊâÿåÜÈåÑæ˜µåêÔåíúÁµåê  ? 

 (1) ÜÈå²µæÜÈå²™ (2) ÔåêÁ·µåùÏÔåìæÒ’å 

 (3) ÊßåêÑæÒ’å (4) ²ìåìæÔåíúÁµåë ƒÑÓ 

 
55. §ÒÁµåê ’æ•ÿæ¤Äð²ìåêÑ–ÓÄå ÇÈåíú²µåêÚÈå 

‡ÁµðëÏé˜™˜µåâÿå ÜÈå²µæÜÈå²™ ÜÈåÒÊâÿåÔåíú           

` 5,200 Ôåê¼åê¾ ÜÝ¾øé ‡ÁµðëÏé˜™˜µåâÿå 

ÜÈå²µæÜÈå²™ ÜÈåÒÊâÿåÔåíú ` 4,200. ŠÑæÓ 

‡ÁµðëÏé˜™˜µåâÿå ÜÈå²µæÜÈå²™ (mean) 
ÜÈåÒÊâÿåÔåíú ` 5,000 …ÁµåÂÑ–Ó ÇÈåíú²µåêÚÈå Ôåê¼åê¾ 
ÜÝ¾øé ‡ÁµðëÏé˜™˜µåâÿå ×ðé’å´µæÔæ²µåê ÜÈåÒ•ÿðÏ 

ŠÚÈåê± ? 

 (1) 80%, 20% (2) 20%, 80% 
 (3) 60%, 40% (4) 40%, 60% 



104 (17 - A) 

50. Inverse of
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡ −

100
210
321

 is 

 (1) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−
100
210

721
  

 (2) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−

−

100
210

721
  

 (3) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−
−−−

100
210
721

  

 (4) 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−

−−

100
210

721
 

 
 
51. If variance is 16, number of 

terms is 20, sum of the terms is 
160, what is the value of 
coefficient of variation ? 

 (1) 50% (2) 49% 
 (3) 50.1% (4) 51% 
 
52. For the following data of price 

behaviour of 3 shares A, B and 
C in a journal, 

Share 
Average 

Price 
(`) 

Standard 
deviation

A 18 5.4 
B 22.5 4.5 
C 24 6 

 Which share would you like to 
dispose at present ? 

 (1) A (2) B 
 (3) C (4) None 

53. For the following data of mean 
and standard deviation of 
monthly demand for the 
products P, Q, R, S in a mall 
Product P Q R S 

Mean 
Demand 

60 90 80 120

SD 12 25 32 16 
 For which product the demand is 

consistent  ? 
 (1) P (2) Q 
 (3) R (4) S 

 
54. Which of the following average 

is used in marketing studies in 
novelty items where a manager 
is interested to know the 
particular pattern of preference 
of the customer ? 

 (1) mean (2) median 
 (3) mode (4) none 

 
55. The average salary of male 

employees in a factory was              
` 5,200 and average salary of 
female employees is ` 4,200. 
The mean salary of all the 
employees is ` 5,000. What is 
the percentage of male and 
female employees ? 

 (1) 80%, 20% (2) 20%, 80% 
 (3) 60%, 40% (4) 40%, 60% 
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56. ax2 + bx + c  = 0 Äå ÔåêëÑ˜µåâÿåê            
cos A Ôåê¼åê¾ sin A „˜™ÁµåÂÑ–Ó, 
²ìåìæÔåíúÁµæÁµå²µðëÒÁµåê A ˜µð ’ðâÿå̃ ™ÄåÔåíú µ̃åâÿåÑ–Ó 
²ìåìæÔåíúÁµåê ÜÈå²™²ìåìæÁµåêÁµåê ? 

 (1) a2 + b2 = 2ac (2) b2 – c2 = 2ab 
 (3) b2 – a2 = 2ac (4) b2 + c2 = 2ab 
57. ax2 + 2bx + a = 0, a > b „˜™ÁµæÂ˜µå † 

ÜÈåÕêé’å²µå̧ Áµå ÔåêëÑ µ̃åâÿå ÜÈåÖÊ·æÔåÔðéÄåê ? 
 (1) 2 ÜÈåÔåìæÄå ÔåêëÑ˜µåâÿåê 
 (2) ˆßæ¼åÍ’å 
 (3) ÔåêëÑ˜µåâÿåÑÓ 
 (4) ƒÜÈåÔåìæÄå ÔåêëÑ˜µåâÿåê 

58. 1 – 2 (x – 1)–1 = x – 
2

x – 1 
ÜÈåÕêé’å²µå¸’ð” ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê 
ÜÈå²™²ìåìæÁµåêÁµåê ? 

 (1) ÔåêëÑ˜µåâ–ÑÓ 
 (2) §ÒÁµåê ÔåêëÑ 
 (3) Š²µå´µåê ÜÈåÔåìæÄå ÔåêëÑ˜µåâÿåê 
 (4) Š²µå´µåê ƒÜÈåÔåìæÄå ÔåêëÑ˜µåâÿåê 
59. §ÊÌ Ôðëé¯æ²µåê ÔæßåÄå’æ²µåÄåê ¼åÄåÆ ’æ²™Äå 

Ôðé µ̃åÔåÄåêÆ µ̃åÒ ð̃̄ µð 15 “.Õêé. µ̃åâÿåÒ¼ð 
ßð¡¢ÜÈåê¼æ¾ 300 “.Õêé. µ̃åâÿåÄåêÆ §ÒÁµåê 

µ̃åÒ ð̃̄ µåë ’ǻ ™Ôðê ÔåêêÒ¡¼åÔæ ™̃ ’åÐÕêÜÈåê¼æ¾Äð. 
ßæ ™̃ÁµåÂÑ–Ó ’æ²™Äå Å¦ÔæÁµå Ôðé µ̃å ŠÚÈåê± ?     

 (1) µ̃åÒ ð̃̄ µð 60 “.Õêé. (2) µ̃åÒ ð̃̄ µð 50 “.Õêé. 
 (3) µ̃åÒ ð̃̄ µð 75 “.Õêé. (4) µ̃åÒ ð̃̄ µð 62 “.Õêé. 
60. ÇÈæÐ²µåÒÊ·åÁµåÑ–Ó §°±̃ µð, Õ²µæÔåê µ̃åâÿåÑ–Ó  4 

›åÒ ð̃̄ µåâÿåê ’åÐÔåêÔæ ™̃ 4, 6, 15 ÜÈð’ðÒ µ́åê µ̃åâÿåê 
Êæ²™ÜÈåê¼å¾Ôð. ÇÈåíúÄå‘ …Ôåíú §°±̃ µð ²ìåìæÔå 
Õ²µæÔåê Ôðéâÿð²ìåê ÄåÒ¼å²µå Êæ²™ÜÈåê¼å¾Ôð ? 

 (1) 1 ÅÕêÚÈå (2) 2 ÅÕêÚÈå˜µåâÿåê 
 (3) 1 µ̃åÒ¯ð (4) 30 ÅÕêÚÈå˜µåâÿåê 

61. ËÁµðëÏé˜™’å ÜÈåê²µå’åÛ¼ð ŠÒÁµå²µð 

 (1) ’ðÑÜÈå’ð” ßðëé˜µåÁµðé …²µåêÔåíúÁµåê 
 (2) ËÁµðëÏé˜™’å „’åÜÝÍ’åÁµå 

ƒÇÈæ²ìåêÁ™ÒÁµå ’ðÑÜÈå˜µæ²µå²µåÄåêÆ 
²µå“ÛÜÈåêÔåíúÁµåê 

 (3) ²ìåêÒ¼åÐ˜µåâÿåÄåêÆ Äå´µðÜÈåÁµð …²µåêÔåíúÁµåê 
 (4) …Ôåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåë ƒÑÓ 
 
62. ËÁµðëÏé˜™’å ƒÇÈå›æ¼å˜µåâ–˜µð ’æ²µå¸˜µåâÿåê 
 (1) ÔðêéÑ–Äå ßåÒ¼åÁµå ’åâÿåÇÈð Äæ²ìåê’å¼åÖ 
 (2) ƒÜÈåÔåêÇÈå¤’å ÔðêéÑ–Öôæ²µå¹ð 
 (3) EMS ÔðêéÑ–Äå ÅÑ¤’åÛûÏÁµå 

ÔåêÄðëéÊ·æÔå  
 (4) …Ôåíú˜µåâÿåÑ–Ó ŠÑÓÔåî 
 
63. ËÁµðëÏé˜™’å ƒÇÈå›æ¼å˜µåâÿåÄåêÆ ¼åÇÝÉÜÈåêÔå 

ÜÈåê²µå’æÛ ÕÁ·µæÄå˜µåâÿåê 
 (1) ²ìåêÒ¼åÐÁµå ÜÈåê¼å¾ ÊðéÑ– ßæ’åêÔåíúÁµåê 
 (2) ’ðÑÔåíú ²ìåêÒ¼åÐ˜µåâ–˜µð ²ìåêêÔå¦Äå²µåÄåêÆ 

ÄðéÕêÜÈåêÔåíúÁµå²µå ÅÚÈðéÁ·µå 
 (3) ÜÈåê¼åê¾Ôå ²ìåêÒ¼åÐ˜µåâ–˜µð ÜÈåê¼åê¾Ôå²™Áµå 

„Ôå²µå¸ ÅÔåìæ¤¸ 
 (4) …Ôåíú˜µåâÿåÑ–Ó ŠÑÓÔåî 
 
64. † ’ðâÿå˜™ÄåÔåíú˜µåâÿåê Áµðë´µå¶ ƒÔå›æ¼å˜µåâÿå 

Ê˜µðš ÅÔå¤ßå¹ð Ôåìæ´µåÑê …²µåêÔå ÊæßåÏ 
ÜÈåÒÜÈðÀ˜µåâÿåê  

 (1) ÊðÒ“ Å²ìåêÒ¼åÐ¸ ÇÈæÐÁ·™’æ²µå˜µåâÿåê 
 (2) ÇÈðîéÑ–éÜÈó ÜÈðéÔð 
 (3) „²µðëé˜µåÏ ÜÈðéÔð 
 (4) …Ôåíú˜µåâÿåÑ–Ó ŠÑÓÔåî 
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56. If the roots of ax2 + bx + c  = 0 
are cos A and sin A for some A, 
which one of the following is 
correct ? 

 (1) a2 + b2 = 2ac  
 (2) b2 – c2 = 2ab 
 (3) b2 – a2 = 2ac  
 (4) b2 + c2 = 2ab 
 

57. What is the nature of the roots of 
the following equation  

 ax2 + 2bx + a = 0 when a > b. 
 (1) 2 equal roots  
 (2) imaginary 
 (3) no roots  
 (4) unequal roots 
 

58. For the equation 1 – 2 (x – 1)–1 = 

x – 
2

x – 1, which of the following 

is correct ? 
 (1) no roots 
 (2) one root 
 (3) two equal roots 
 (4) two unequal roots 
 

59. By increasing the speed of his 
car by 15 km per hour, a 
motorist covers 300 kms an hour 
less than before. What is the 
original speed of the car ?    

 (1) 60 kmph (2) 50 kmph 
 (3) 75 kmph (4) 62 kmph 
 
60. Four bells toll at intervals                

4, 6, 15 seconds respectively, 
beginning together. After what 
interval of time will they again 
toll together ? 

 (1) 1 minute (2) 2 minutes 
 (3) 1 hour (4) 30 minutes 

61. Industrial safety means 
 (1) Not to go for work. 
 (2) Protection of workers from 

the danger of Industrial 
Accident. 

 (3) No handling of machine. 
 (4) None of the above. 
 
62. Reasons for Industrial Accidents 
 (1) Poor leadership from the 

top. 
 (2) Inadequate supervision 
 (3) Careless attitude on EMS 
 (4) All of these 
 
63. The safety measures to prevent 

Industrial Accidents 
 (1) Fencing of machinery. 
 (2) Prohibition of employment 

of young persons on certain 
machine. 

 (3) Providing enclosures to the 
revolving machines. 

 (4) All of these. 
 

64. The following are the external 
bodies which are available to 
handle major accidents : 

 (1) Fire authorities 
 (2) Police service 
 (3) Health service 
 (4) All the above 
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65. † ’ðâÿå˜™ÄåÔåíú (ÕÚÈå’æ²™) „²µðëé˜µåÏ›æ¼å’å 
²µæÜÈæ²ìåêÅ’å˜µåâÿåê 

 (1) ÕêéÁ¿·µðñÑó ŒÜÈðëéÜÈå²ìåêÄðé¯ó  
 (2) ƒÔðëéÅ²ìåìæ 
 (3) ßðñ´µðëÐé¦Äó ÜÈåÑðÉÃûñ´µó 
 (4) …Ôåíú˜µåâÿåÑ–Ó ŠÑÓÔåî 
 
66. ÔåÏ“¾¼åÖ Personality ÇÈåÁµåÔåíú ˜™Ðé’ó ×åÊÂ 

Persona ÇÈåÁµåÁ™ÒÁµå ÅÚÈåÉ½¾²ìåìæ˜™Áµð. 
‘persona’ ŠÒÁµå²µð 

 (1) ÔåìæÁ·µåùÏÔåê (2) Ôåêê•Ôæ´µå 
 (3) ÔåÏ“¾ (4) ÔåìæÄåÔå 
 
67. “¼åÄåÆ ÜÈåÖÒ¼å ˜µåê¸ Ôåê¼åê¾ Ê·æÔåÄð˜µåâÿå 

ÇÈåÐ¦ÿæöÇÈåî²µå’å ¦ÿæöÄå” ŠÒÁµå²µð ƒÁ¿·µå¤ 
 (1) Êðé²µð²ìåêÔå²µå Ê˜µð˜µð ƒ²™Ôåíú  
 (2) ÜÈåÖ-ƒ²™Ôåíú 
 (3) ÁµåïÚÝ±’ðëéÄå 
 (4) ÔåêÄðëéÊ·æÔå 
 
68. “’åÒÇÈðÅ²ìåê Ê·åÕÚÈåÏÁµå ’æ²ìåê¤ÜÈæÁ·µåÄð²ìåêÄåêÆ 

ÇÈåÐÊ·æÕÜÈåêÔå „Ò¼å²™’å Ôåê¼åê¾ ÊæßåÏ 
ƒÒ×å˜µåâÿåÄåêÆ ÅÔå¤ßå¹æ ÔåêÒ´µåâ–²ìåêê 
˜µåê²µåê½ÜÈåêÔå ÇÈåÐ“Ð²ìðê²ìåêê” 

 (1) SWOT (2) MOB 
 (3) LPG (4) MIS 
 
69. ÄæÑê” ÇÈåÁµå˜µåâÿå §ÒÁµåê ’åêÓÇÈå¾ ÄæÔåêÔåíú 
 (1) WATT (2) SWOT 
 (3) GATT (4) CATT 
 
70. ÜÈå’æ²µæ¼åÍ’å ¡Ò¼åÄð²ìåêê ×å“¾²ìåìæ˜µåê¼å¾Áµð. 

„Áµå²µð Äå’æ²µæ¼åÍ’å ¡Ò¼åÄð²ìåêê §ÒÁµåê 
 (1) ƒÔå’æ×å (2) ÊðÁµå²™’ð 
 (3) ÁµòÊ¤ÑÏ (4) ×å“¾ 

71. “ÅÔåêÍ ¦Äå²µðëÒÁ™˜µð ÜÈåÔåê²ìåêÔåÄåêÆ 
’åâÿð²ìåêêÔåíúÁµåê _____ “”Ò¼åÑë ßðôåê¢ 
Ôåêê•ÏÔæÁµåÁµåêÂ” 

 (1) ÜÝÊÌÒÁ™²ìåê ¦ÿðë¼ð ÜÈåÊ·ð 
 (2) ÁµðñÄåÒÁ™Äå ’ðÑÜÈå 
 (3) Å²ìåê¼åÔæÁµå ÔåìòÑÏÅ¸¤²ìåê 
 (4) …Ôåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåë ƒÑÓ 
 

72. ˜µðÑêÓ-ÜÈðëéÑê, ˜µðÑêÓ-˜µðÑêÓ, Ôåê¼åê¾ ÜÈðëéÑê-
ÜÈðëéÑê˜µåâÿåê …Áµå²µå ÇÈåÁµå˜µåâÿæ˜™Ôð 

 (1) Ç·ÈðéÔåìó ÜÝÁµæÂÃÒ¼å 
 (2) ˜µðéÔåìó ÜÝÁµæÂÃÒ¼å 
 (3) ÔåìæÏÜÈðëÓé ÜÝÁµæÂÃÒ¼å 
 (4) …Ôåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåë ƒÑÓ 
 

73. _____ ÄåêÆ ÕÅÔåê²ìåê Ôåìæ´™’ðëâÿåäÑê, 
ÜÈåÒÔåßåÄð „˜µå¼åÏÔæ˜™ Êðé’åê 

 (1) Õôæ²µå 
 (2) ƒÊ–·ÇÈæÐ²ìåê 
 (3) Ôåìæà½ 
 (4) …Ôåíú˜µåâÿåÑ–Ó ŠÑÓÔåî 
 

74. Ôåìæà½²ìåêÄåêÆ ÜÈåÒ’ðé¼å˜µåâÿå ƒÁ¿·µåÔæ 
„Ò˜™’æÊ–·Äå²ìåê˜µåâÿå ÜÈå²µåº²ìåêÄæÆ˜™ 
Ôåìæ´µåêÔå Ê·æÚÈæÒ¼å²µåÔåíú 

 (1) ˜µåë´·µåÔæ˜™ÜÈåêÔåíúÁµåê 
 (2) ÕÜÈåÒ’ðé¼åÔæ˜™ÜÈåêÔåíúÁµåê 
 (3) ÜÈåÒÁµðé×å 
 (4) …Ôåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåë ƒÑÓ 
 

75. ÜÈåÒÜÈðÀ˜µåâ–˜µð, §âÿðä²ìåêÁµåê Ôåê¼åê¾ ’ð®±ÁµåÂÄåêÆ 
Ôåìæ´µåêÔå ÜÈåÒÔåßåÄåÔåíú 

 (1) ÔðêéÑêÍ• 
 (2) ’ðâÿåÔåêê• 
 (3) ËÇÈåôæ²™’å 
 (4) ƒÄòÇÈåôæ²™’å 
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65. The following are the toxic 
chemicals : 

 (1) Methyl isocyanate 
 (2) Ammonia 
 (3) Hydrogen sulphide 
 (4) All the above 
 
66. Personality is derived from 

Greek word ‘persona’ means 
 (1) Media (2) Mask 
 (3) Person (4) Human 
 
67. “Concious knowledge of one’s 

own character & feelings” means 
 (1) Awareness of others 
 (2) Self-awareness 
 (3) Perception 
 (4) Attitude 
 
68. “Is a process where the 

management team identifies the 
internal and external factors that 
will affect the company’s future 
performance.” 

 (1) SWOT (2) MOB 
 (3) LPG (4) MIS 
 
69. An Acronym made up of 4 

words is 
 (1) WATT (2) SWOT 
 (3) GATT (4) CATT 
 
70. Positive thinking is strength, 

where as Negative thinking is a, 
_______ 

 (1) opportunity  
 (2) threat 
 (3) weakness  
 (4) strength 

71. “Spending time with your people 
is much more important than” 

 (1) Staff meeting 
 (2) Routine work 
 (3) Regular appraisal 
 (4) None 
 
72. Win-Lose, Win-Win & Lose-

Lose are terms of 
 (1) Fame theory 
 (2) Game theory 
 (3) Maslows theory 
 (4) None 
 
73. Communication is needed to 

exchange the 
 (1) idea 
 (2) opinions 
 (3) information 
 (4) All of these 
 
74. Translation of information into 

series of symbols or Gestures is 
 (1) Encoding  
 (2) Decoding 
 (3) Message  
 (4) None 
 
75. The communication which does 

good and bad to the 
organisations are  

 (1) up ward  
 (2) down ward 
 (3) formal  
 (4) informal 
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76. ÔåÏÔåßæ²µå ²ìðëé¦Äð²ìðêÒÁµå²µð  
 (1) ’åÒÇÈðÅ²ìåê ÔåÏÔåßæ²µå Ôåê¼åê¾ 

ÜÈæÁ·™ÜÝÁµå ’ðÑÜÈåÔåÄåêÆ ¼ðëé²™ÜÈåêÔå 
²ìðëé¦Äð 

 (2) ÔåÏÔåßæ²µå ²ìðëé¦Äð²ìåêÄåêÆ 
’åÒÇÈðÅ²ìåêÄåêÆ ÇÈæÐ²µåÒÊ–·ÜÈåêÔå ÔåêêÄåÆ 
Ôåìæ¼åÐÔðé ÜÝÁµåÂÃÇÈå´™ÜÈåÑæ˜µåê¼å¾Áµð 

 (3) ÔåÏÔåßæ²µå ²ìðëé¦Äð˜µåâÿåê ’åÒÇÈðÅ²ìåê 
Ê·åÕÚÈåÏÁµå Á™’å”ÄåêÆ ¼ðëé²™ÜÈåê¼å¾Ôð 

 (4) ÔåÏÔåßæ²µå ²ìðëé¦Äð˜µåâÿåê ’åÒÇÈðÅ²ìåê 
àÒÁ™Äå ôå²™¼ðÐ²ìåêÄåêÆ ÇÈåíúÄå²µó 
ÇÈå²™ØéÑ–ÜÈåê¼å¾Áµð. 

 
77. ’æÑæÄåê’åÐÔåêÁµåÑ–Ó ÜÈåÒÜÈðÀ²ìåê ÔåêëÑ 

‡ÁµðÂé×å Ôåê¼åê¾ Ôåêê•Ï˜µåê²™²ìåêê 
ÊÁµåÑæ˜µåÁ™²µåêÔå Ê²µåÔåº˜µð²ìåêÑ–Ó 
Áµæ•ÑæÁµå ›ðëéÚÈå¹ð²ìåêÄåêÆ 
àé˜µðÄåÆÑæ˜µåê¼å¾Áµð 

 (1) Á™ ÕÚÈåÄó ÜÈð±é¯ó ÔðêÒ¯ó (Áµå×å¤Äå 
Áµæ•Ñð) 

 (2) Á™ ÕêÚÈåÄó ÜÈð±é¯ó ÔðêÒ¯ó 
(Å²ìðëé˜µå Áµæ•Ñð) 

 (3) Á™ ’æÇÈðî¤é²µðé¯ó Ñðëé˜µðëé 
(’æÇÈðî¤é²µðé¯ó ÑæÒ£åÄå) 

 (4) ÜÈåÒÜÈðÀ²ìåê ‡ÁµðÂé×å 
 
78. S.M.A.R.T. ˜µåê²™˜µåâÿðÄåêÆÔåíúÁµåê ’ðâÿå˜™ÄåÁµå²µå 

ÜÈåëôåÄæ²µåëÇÈå 
 (1) ÜÈðÉÚÈåÑó, Ôðëé°ÔðéÚÈåÄåÑó, 

„’åêÏ²µðé¯ó, ²™Ñ²ìåêÊÑó, 
¯ðëé®Ñó  

 (2) ÜÈæÇ·Èó±, ÕêéÅÒ˜µóÇ·ÈåùíúÑó, 
„ÊÞÑëÏ¯ó, ²™éÜÈåÄåÊÑó, ¯ðÄåÊÑó 

 (3) ÜÈðÉÜÝÇ·Ý’ó, ÔðêÚÈå²µåÊÑó, ƒ¡éÔåÊÑó, 
²µðÑðÔðÒ¯ó, ¯ðñÔåìó ÊòÒ´µó 

 (4) ÜÈðëéÚÝ²ìåêÑó, Ôåìæ²µåÑó, 
„°¤ÜÝ±’ó, ²™ÜÝ”, ®Õê¤ÄåÑó 

 

79. ²ìåìæÔå ôò’å°±ÄåÑ–Ó † ’ðâÿå˜™Äå ƒÒ×å˜µåâ–Ôð 
: ²µå’åÛ¹æÅé½, ²µåôåÄð, ’ò×åÑÏ˜µåâÿåê, 
ÔåÏÔåÜÈðÀ˜µåâÿåê, ÜÝÊÌÒÁ™, ‡ÄåÆ¼å ˜µåê²™˜µåâÿåÄåêÆ 
Ôåìæ´µåêÔå ÕÁ·µæÄå˜µåâÿåê. 

 (1) Ôåìæ“”ÅÞ 7S ôò’å®ê±’ðÑÜÈå 

 (2) 7 ÜÝ˜µæÍ Ôåìæ´µðÑó  

 (3) Ê–ÜÝ¨ ÔåìæÏ°Ð’óÞ 

 (4) ƒÄæÞÇ·Èó ÔåìæÏ°Ð’óÞ  

 

80. ÇÈåÐ½ ’åÒÇÈðÅ²ìåê ÇÈåÐ½²ìðëÊÌ ÇÈåÐÔðëé®²µó, 
ÜÝÊÌÒÁ™ Ôåê¼åê¾ ÅÁµð¤é×å’åÄåê 
ÇÈå´µðÁµåê’ðëÒ´µå ƒÁ¿·µåÔæ Ôåìæ²™Áµå 
ÜÈð’åëÏ²™°˜µåâÿå ÜÈåÒ•ÿðÏ²ìåêÄåêÆ, „ 
ÔåÏÔåßæ²µåÔåÄåêÆ Ôåìæ´™Áµå Š²µå´µåê 
Á™Äå˜µåâÿðëâÿå˜µæ˜™ ’åÒÇÈðÅ˜µð ½â–ÜÈåêÔåíúÁµåê 
²ìåìæÔæ˜µå ŠÒÁµå²µð ƒÁµå²µå ÔåìòÑÏÔåíú 

 (1) §ÒÁµåê ’ðëé°˜™Ò¼å ßðôæ¢˜™ÁµåÂ²µð 

 (2) ŒÔå¼åê¾ Ñ’åÛ’åë” ßðôæ¢˜™ÁµåÂ²µð 

 (3) ßå¼åê¾ Ñ’åÛ’åë” ßðôæ¢˜™ÁµåÂ²µð 

 (4) §ÒÁµåê Ñ’åÛ’åë” ßðôæ¢˜™ÁµåÂ²µð 

 

81. † ’ðâÿå˜™ÄåÁµåÄåêÆ ²ìåìæÔå ÇÈæÑêÁµæ²µåÄå Ê˜µðš 
ÇÈæÑêÁµæ²™’ð ’æÄåëÄåê ßðéâÿåê¼å¾Áµð. † 
ÇÈæÑêÁµæ²µåÄåê ÑæÊ·åÁµåÑ–Ó ¼åÄåÆ ÇÈæÑÄåêÆ 
¼ð˜µðÁµåê’ðëâÿåêäÔå ßå’å”ÄåêÆ ßðëÒÁ™ÁµæÂÄð, 
ƒÁµå²µð, ²ìåìæÔåíúÁµðé ßðë¹ð˜µæ²™’ð²ìåêÑ–Ó 
Ê·æ˜™Áµæ²µåÄåÑÓ. 

 (1) ÜÝéÕê¼å ¦ÔæÊæÂ²™²ìåê ÇÈæÑêÁµæ²µå 

 (2) ÔðêñÄå²µó  

 (3) Š ÜÝÓéÇÝÒ˜µó ÇÈæ®¤Äå²µó  

 (4) Š ÜÈðñÑðÒ¯ó ÇÈæ®¤Äå²µó  
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76. A Business Plan is 
 (1) A plan showing the 

business and the 
performance of the 
company. 

 (2) Business plans is only 
prepared before starting a 
company. 

 (3) Business plans show the 
future direction of a 
company. 

 (4) Business plans review the 
past history of a company. 

 
77. A written declaration of the 

organization’s core purpose and 
focus that remains unchanged 
over time is known as the 

 (1) The Vision Statement 
 (2) The Mission Statement 
 (3) The Corporate Logo 
 (4) The objective of the 

Organization 
 
78. S.M.A.R.T Goals is an acronym 

for 
 (1) Special, Motivational, 

Accurate, Reliable, Total. 
 (2) Soft, Meaningful, Absolute, 

Reasonable, Tenable. 
 (3) Specific, Measurable, 

Achievable, Relevant, 
Time-bound.  

 (4) Social, Moral, Artistic, 
Risky, Terminal. 

79. Which framework constitutes the 
following-Strategy, Structure, 
Skills, Systems, Staff, Style to 
make Super-ordinate goals ? 

 (1) McKinsey 7S Framework 
 (2) 7 Sigma Model 
 (3) The B.C.G Matrix 
 (4) Ansoff Matrix 
 
80. Every promoter, employee and 

director of every company shall 
disclose to the company the 
number of such securities 
acquired or disposed of within 
two trading days of such 
transaction if the value is 

 (1) Over Rupees One Crore 
 (2) Over Rupees Fifty Lakhs 
 (3) Over Rupees Ten Lakhs  
 (4) Over Rupees One Lakh 
 

81. The Partnership Act states this 
about which partner ? 

 This partner has the right to take 
their part of the profit but does 
not have to be a part of any 
liability 

 (1) Limited Liability Partner 
 (2) A Minor 
 (3) A Sleeping Partner 
 (4) A Silent Partner 
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82. 2013 ²µåÑ–Ó ²ìåìæÔå ßðëÜÈå ’åÒÇÈðÅ 
’æÄåëÄåÄåêÆ ¦ÿæ²™˜µð ¼å²µåÑæÎê¼åê ? 

 (1) ’æÒÇÝ°ÚÈåÄó ’åÕêÚÈåÄó „Ç·Èó …Ò ™́²ìåìæ  
 (2) ÔðëÄðëéÇÈæÑ–ÜÝ±’ó ƒÒ´µó ²µðÜÝ±ø“±éÔó 

¯ðÐé´µó ÇÈæÐ“±éÜÈåÜÈó  
 (3) Á™ ’åÒÇÈåÅéÜÈó „’ó± 
 (4) Ç·Èæ²™éÄó Š’óÞ ôðéÒ¦ÿó ²µð̃ µåêÏÑðéÚÈåÄó „’ó±  
83. ²ìåìæÔå ’æÒÇÝÓ²ìåêÄóÞ „’ó± Äå (ÇÈå²™ÇÈæÑÄæ 

’æÄåëÄåê) ƒ´™²ìåêÑ–Ó : USA ²ìåê 
ÔåÏ“¾²ìðëÊÌÅ˜µð Ôåê¼åê¾ ÜÈð’åêÏ²™°˜µåâÿåÄåêÆ 
Ôåìæ²µåêÔå ’ðÑÔåíú ÕÁµðéØ²ìåê²™˜µð, §ÊÌ 
ÕÁµðéØé ÜÈå’æ¤²™ Äò’å²µåÅ˜µð 
ÔåÏÔåßæ²µåÔåÄåêÆ ˜µåâ–ÜÈåêÔå ƒÁ¿·µåÔæ 
‡âÿåÜÝ’ðëâÿåäÑê Êðé²µðëÊÌ ÔåÏ“¾ÎêÒÁµå 
ƒÁ¿·µåÔæ ¦ÿðë¼ð²ìåêÑ–Ó ƒÁ¿·µåÔæ 
ÅÁµð¤éØÜÈåêÔåíúÁµå’æ”˜™ ßå¸ ÇÈæÔå½ 
Ôåìæ´µåêÔåíúÁµåê ’æÄåëÄåê Êæà²µåÔæ˜µåê¼å¾Áµð 

 (1) Ç·Èæ²™Äå Š’óÞôðéÒ¦ÿó ²µð̃ µåêÏÑðéÚÈåÄó „’ó± 
(ÕÁµðéØé ÕÅÔåê²ìåê Å²ìåêÒ¼åÐ̧  ’æ²ìðêÂ)  

 (2) Ç·Èæ²™Äå Š’óÞôðéÒ¦ÿó ÔðêéÄðé¦ÿóÔðêÒ¯ó 
„’ó± (ÕÁµðéØé ÕÅÔåê²ìåê ÅÔå¤ßå¹æ 
’æ²ìðêÂ)  

 (3) ÔðëÄðëéÇÈæÑ–ÜÝ±’ó ƒÒ´µó ²µðÜÝ±ø“±éÔó 
¯ðÐé´µó ÇÈæÐ“±éÜÈåÜÈó (‹’åÜÈæÖÔåêÏ Ôåê¼åê¾ 
ÅÊ¤ÒÁ·™¼å ÔæÏÇÈæ²™ ÇÈåÁµåÂÃ½˜µåâÿåê) 

 (4) Ç·Èæ²™éÄó ’å²µåÇÈó± ÇÈæÐ“±éÜÈåÜÈó „’ó± 
(ÕÁµðéØé Ê·åùÐÚÈæ±ôæ²µå ÇÈåÁµåÂÃ½˜µåâÿå ’æ²ìðêÂ) 

 

84. ÄðëéÒÁµæÎê¼å ’åÒÇÈðÅ²ìåê ’æÄåëÄåêÊÁµåÂÃ 
ßðÜÈå²µåê Ôåê¼åê¾ ÜÈæÀÇÝÜÝÁµå Á™ÄæÒ’åÔåÄåêÆ 
¼ðëé²™ÜÈåêÔå ¦ÄåÄå ÇÈåÐÔåìæ¸ ÇÈå¼åÐÔåÄåêÆ † 
²™é½ ’å²µð²ìåêÑæ˜µåê¼å¾Áµð  

 (1) ÜÈå°¤Ç·Ý’ðé¯ó „Ç·Èó …ÄóÞÇÈð’åÛÄó 
(ÇÈå²™Õé’åÛ¹æ ÇÈåÐÔåìæ¸ ÇÈå¼åÐ) 

 (2) ÜÈå°¤Ç·Ý’ðé¯ó „Ç·Èó …Äó 
’æÇÈðî¤é²µðéÚÈåÄó (ÜÈæÀÇÈåÄæ ÇÈåÐÔåìæ¸ ÇÈå¼åÐ) 

 (3) ’ðÐ´™¯ó „Ç·Èó …ÄóÞ ÇÈð’åÛÄó  
 (4) Ñð®²µó „Ç·Èó ’ðÐ´™¯ó  

85. „ÔåêÁµåê ²µåÇ·Èåùíý¾ (IE) ÜÈåÒà¼ð²ìåêê 
Ê·æ²µå¼åÁ™ÒÁµå „ÔåêÁµåê, ²µåÇ·Èåùíý¾ ƒÁ¿·µåÔæ 
ÜÈðéÔð²ìåêÄåêÆ Ôåìæ´µåêÔå ÔåÏ“¾˜µåâ–˜µð 
ƒÔå×åÏÔæ˜™²µåêÔå ÄðëéÒÁµåº’å²µå¸Ôæ˜™Áµð. 

…ÁµåÄåêÆ ²ìåìæÔå ÜÈåÒÜÈðÀ²ìåêê ’ðë´µåê¼å¾Áµð ? 

 (1) …Ò´™²ìåêÄó …ÄóÞ°®êÏ¯ó „Ç·Èó 
Ç·Èæ²™Äó ¯ðÐé´µó  

 (2) ÜÈð±é¯ó ¯ðÐé´™Ò˜µó ’æÇÈðî¤é²µðéÚÈåÄó  

 (3) ´µðñ²µð’ðë±é²µðé¯ó ¦Äå²µåÑó „Ç·Èó 
Ç·Èæ²™Äó ¯ðÐé´µó 

 (4) Ç·Èð´µå²µðéÚÈåÄó „Ç·Èó …Ò´™²ìåêÄó 
Š’óÞ ÇÈðîé¯ó¤ „˜µå¤ÄðñÜÈðéÚÈåÄóÞ 

 
86. ’æ•ÿæ¤Äð˜µåâÿå ’æÎêÁµð 1948 ²ìåìæÔå 

Á™ÄæÒ’åÁ™ÒÁµå ¦ÿæ²™˜µð ÊÒÁ™Áµð 

 (1) 1Äðé ‹ÇÝÐÑó, 1949  

 (2) 1Äðé „˜µåÜÈó±, 1948 

 (3) 1Äðé ‹ÇÝÐÑó, 1948 

 (4) 1Äðé „˜µåÜÈó±, 1949 

 

87. ’ðñ˜µæ²™’æ ÔæÏ¦Ï ’æÎêÁµð 1947 ²µåÑ–Ó 
ÔæÏ•ÿæÏÅÜÈåÑæ˜™²µåêÔåÒ¼ð ÁµðñÄåÒÁ™Äå 

’ðÑÜÈå˜µæ²µåÄå ______ ’ðÑÜÈåÁµå Á™Äå˜µåâÿå 

Ôðé¼åÄåÔåÄåêÆ “ÜÈå²µæÜÈå²™ Ôðé¼åÄå ” ÔðÒÁµåê 
ÇÈå²™˜µåºÜÈåÑæ˜µåêÔåíúÁµåê. 

 (1) 15 

 (2) 12 

 (3) 28 

 (4) 30 
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82. Which New Act for Companies 
was introduced in 2013 ? 

 (1) Competition Commission 
of India. 

 (2) Monopolistic and Restrictive 
Trade Practices. 

 (3) The Companies Act 
 (4) Foreign Exchange Regulation 

Act 
 

83. Which Compliance Act do all 
these rules fall under ‘make it 
unlawful for a U.S. person, and 
certain foreign issuers of 
securities, to make a payment to 
a foreign official for the purpose 
of obtaining or retaining 
business for or with, or directing 
business to, any person’. 

 (1) Foreign Exchange 
Regulation Act  

 (2) Foreign Exchange 
Management Act 

 (3) Monopolistic and 
Restrictive Trade Practices 

 (4) Foreign Corrupt Practices 
Act 

 
84. Registered firm’s ‘birth 

certificate’ showing its legal 
name and date of incorporation 
is called 

 (1) Certification of Inspection 
 (2) Certification of Incorporation 
 (3) Credit of Inspection 
 (4) Letter of Credit 

85. Importer Exporter Code. Import 
Export (IE) Code is a 
registration required for persons 
importing or exporting goods 
and services from India. Which 
Agency gives this ? 

 (1) Indian Institute of Foreign 
Trade 

 (2) State Trading Corporation 

 (3) Directorate General of 
Foreign Trade 

 (4) Federation of Indian Export 
Organizations 

 

86. The Factories Act, 1948 came 
into effect from 

 (1) 1st day of April, 1949 

 (2) 1st day of August, 1948 

 (3) 1st day of April, 1948 

 (4) 1st day of August, 1949 

 

87. As defined in the Industrial 
Disputes Act, 1947 “Average 
pay” in the case of daily paid 
workman, is ___ full working 
days  

 (1) 15  

 (2) 12 

 (3) 28  

 (4) 30 
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88. ’ðñ˜µæ²™’ð˜µåâÿåê (ƒÊ–·ÔåïÁ™ÂÃ Ôåê¼åê¾ Å²ìåêÒ¼åÐ¸) 

’æÎêÁµð, 1951 ²µåÒ¼ð ______ ÇÈåÐÔå˜µå¤Áµå  

’ðñ˜µæ²™’ð˜µåâÿåê ’å´µæ¶²ìåê ÇÈå²µåÔæÄå˜™ 

ÇÈå´µð²ìåêÊðé’æ˜™Áµð. 

 (1) 12 (2) 7 

 (3) 9 (4) 5 

 

89. MSMED 2006 ’æÎêÁµð²ìåêÒ¼ð, ÜÈðéÔæ 

ôå®êÔå°’ð²ìåêÑ–Ó ¼ðë´µå˜™²µåêÔå ÜÈåë’åÛûÍ 

›å®’åÁµåÑ–Ó ‡ÇÈå’å²µå¸˜µåâÿå ÔðêéÑð ßåë´µåêÔå 

ÊÒ´µåÔæâÿå ßåë´™’ð²ìåêê ²µåë.                          

` ______˜µåâÿå Õê½˜µð §âÿåÇÈå°±Áµð. 

 (1) 25 Ñ’åÛ (2) 15 Ñ’åÛ 

 (3) 10 Ñ’åÛ (4) 50 Ñ’åÛ 

 

90. ÇÈæÑêÁµæ²™’ð ’æÎêÁµð 1932 ______ 

Ê·æ˜µåÔåÄåêÆ ßðë²µå¼åêÇÈå´™ÜÝ …´™é 

Ê·æ²µå¼åÁµåÑ–Ó ôæÑ–¾²ìåêÑ–ÓÁµð. 

 (1) ’ðéÒÁµæÐ´µåâ–¼å ÇÈåÐÁµðé×å˜µåâÿåê (Union 

Territories)  

 (2) ¦ÔåêêÍ Ôåê¼åê¾ ’æØÍé²µå (Jammu & 

Kashmir) 

 (3) ŠÄó.ÜÝ.„²µó, ÁµðßåÑ– (NCR, 

Delhi) 

 (4) †×æÄåÏ ²µæ¦Ï˜µåâÿåê (North Eastern 

States) 

91. Ê·æ²µå¼åÁµå ÕÁµðéØ ÜÈåÒ¡¼å Äðé²µå ÊÒ´µåÔæâÿå 

ßåë´™’ð Åé½²ìåêÒ¼ð ÔðñÁµåÏ“é²ìåê 

ÜÈæÁ·µåÄå˜µåâÿå ‡¼æÉÁµåÄæ ôå®êÔå°’ð˜µð 

ÜÈåÖ²ìåêÒôæÑ–¼å ²µåßåÁµæ²™²ìåê´™ _____ 

Õê½²ìåêÔå²µð˜µð ÕÁµðéØ Äðé²µå ÊÒ´µåÔæâÿå 

ßåë´™’ð ƒÔå’æ×åÕÁµð. 

 (1) 100% 

 (2) 51% 

 (3) 50% 

 (4) 49% 
 

92. ’åÄæ¤®’å ’ðñ˜µæ²™’æ (ÜÈòÑÊ·åùÏ˜µåâÿå) 

(½ÁµåêÂÇÈå´™) ’æÎêÁµð, 2013, ²µåÒ¼ð 

²µæ¦ÏÔåê®±Áµå ‡ÄåÆ¼æÁ·™’æ²µå ÜÈåÕê½²ìåêê 

…Ôå²µå ƒÁ·µåùÏ’åÛ¼ð²ìåêÑ–Ó ¦²µåê˜µåÑ–Áµð. 

 (1) Ôåêê•ÏÔåêÒ½Ð 

 (2) Ôåêê•Ï ’æ²ìåê¤ÁµåØ¤ 

 (3) ’ðñ˜µæ²™’æ ÜÈå¡Ôå²µåê 

 (4) ÇÈåÐÁ·µæÄå ’æ²ìåê¤ÁµåØ¤ Ôæº¦Ï 

Ôåê¼åê¾ ’ðñ˜µæ²™’æ …Ñæ•ÿð 

 

93. ’æ•ÿæ¤Äð˜µåâÿå ƒÁ·™Å²ìåêÔåê 1948 ²µå 

Ê·æ˜µå 11-20 † Ê˜µðš …Áµð  

 (1) ÜÈåê²µå’åÛ¼ð 

 (2) ’ðÛéÔåìæÊ–·ÔåïÁ™ÂÃ 

 (3) ’æ²ìåìæ¤ÔåÁ·™ 

 (4) „²µðëé˜µåÏ 



104 (27 - A) 

88. Industries (Development & 
Regulation) Act, 1951 compels 
compulsory licensing for ___ 
category of industries. 

 (1) 12  

 (2) 7 

 (3) 9  

 (4) 5 

 

89. As per the MSMED Act 2006, 
Micro Enterprise engaged in 
services shall have the 
investment in equipments less 
than ` _____ 

 (1) 25 lakhs  

 (2) 15 lakhs 

 (3) 10 lakhs  

 (4) 50 lakhs 

 

90. The Partnership Act, 1932, 
extends to the whole of India 
except _____ 

 (1) Union Territories 

 (2) Jammu & Kashmir 

 (3) NCR, Delhi 

 (4) North Eastern States 

91. As per the “Consolidated FDI 
Policy” of Government of India, 
FDI up to ____, under the 
automatic route is permitted for 
manufacturing of medical 
devices. 

 (1) 100%  

 (2) 51% 

 (3) 50%  

 (4) 49% 

 

92. As per the Karnataka Industries 
(facilitation) (Amendment) Act, 
2013, the State Level 
Empowered Committee is under 
the chairmanship of 

 (1) Chief Minister 

 (2) Chief Secretary 

 (3) Industries Minister 

 (4) Principal Secretary of 
Commerce and Industries 

 

93. Sections 11 to 20 under the 
Factories Act, 1948 deal with 

 (1) Safety 

 (2) Welfare 

 (3) Working hours 

 (4) Health 
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94. ²ìåìæÔåíúÁµðé ’ðñ˜µæ²™’ð²ìåêÑ–Ó ‡ÁµðëÏé˜™˜µåâÿæÁµå 
¦Äå²µå ¼åÒ´µåÔåíú ’æ²ìåê¤ÜÈåÀ˜™¼å˜µðëâ–ÜÈåêÔåíúÁµåê 
(ÕÜÈå¦¤Äð)  

 (1) Ñðé „Ç·Èó  (2) ÔåêêÚÈå”²µå 

 (3) Ê–é˜µåÔåêêÁµðÐ (4) Ôåêêôåê¢Õ’ð 
 

95. ’åÅÚÈå³ Ôðé¼åÄåÔåÄåêÆ ÅÁ·µå¤²™ÜÈåÑê Ôåê¼åê¾ 
ÇÈå²™ÚÈå”²™ÜÈåÑê ÕÁ·™ÕÁ·µæÄåÔåÄåêÆ …Áµå²µå´™ 
Åé´µåÑæ˜™Áµð 

 (1) 1948 ²µå ’åÅÚÈå³ Ôðé¼åÄå ’æ²ìðêÂ 5Äðé 
ÇÈå²™ôð¥éÁµå  

 (2) 1948 ²µå ’åÅÚÈå³ Ôðé¼åÄå ’æ²ìðêÂ 7 Äðé 
ÇÈå²™ôð¥éÁµå 

 (3) 1948 ²µå ’åÅÚÈå³ Ôðé¼åÄå ’æ²ìðêÂ 11 Äðé 
ÇÈå²™ôð¥éÁµå 

 (4) 1948 ²µå ’åÅÚÈå³ Ôðé¼åÄå ’æ²ìðêÂ 12 Äðé 
ÇÈå²™ôð¥éÁµå 

 

96. ƒÒ˜µå´™²ìåêÑ–Ó ’åÐ²ìåêÇÈå°±²ìðëÒÁ™˜µð 
ÇÈåÐÁµå×å¤Äå“”²™ÜÝÁµå ÜÈå²µå’åê  

 (1) ’ðë´µåê˜µð 

 (2) ’ðë´µåê˜µð˜µð „ÔåêÒ¼åÐ¸ 

 (3) ÇÈåÐ½’ðë´µåê˜µð 

 (4) Ôæ˜µæÂÄå 
 

97. ‘ÜÈð¯ó „Ç·Èó Ê–ÑóÞ’ ŠÒÊêÁµå²µå ÔæÏ•ÿðÏ²ìåêê 
Ôå˜µæ¤Ôå¹ð²ìåê Ñ–•–¼å˜µåâÿå ƒÁ·™Å²ìåêÔåê 
1881 ²µå _____ ²µå´™ …Áµð.  

 (1) ÇÈå²™ôð¥éÁµå 132 

 (2) ÇÈå²™ôð¥éÁµå 9 

 (3) ÇÈå²™ôð¥éÁµå 12 

 (4) ÇÈå²™ôð¥éÁµå 133 

98. ÜÈå²µå’åê Ôåìæ²µæ® ƒÁ·™Å²ìåêÔåê 1930 

ÇÈå²™ôð¥éÁµå 2(1) ²µå ÇÈåÐ’æ²µå ’ðëâÿåêä˜µå ŠÒÁµå²µð 

 (1) ÜÈå²µå’åÄåêÆ ’ðëâÿåêäÔåÔå²µåê 

 (2) ÜÈå²µå’åê ’ðëâÿåäÑê §ÇÝÉÁµåÔå²µåê 

 (3) ÜÈå²µå’åÄåêÆ ’ðëâÿåêäÔåÔå²µåê …ÑÓÔð 

’ðëâÿåäÑê §ÇÝÉÁµåÔå²µåê 

 (4) ÜÈå²µå’åÄåêÆ ’ðëâÿåäÑê §ÇÈåÉÁµðé 

…²µåêÔåÔå²µåê 

 

99. ¯ðÐé´µó Ôåìæ’ó¤ ƒÁ·™Å²ìåêÔåê 1999 

(2003 ²µå ÜÈðÇÈð±ÒÊ²µó 15 ²™ÒÁµå ¦ÿæ²™) † 

ÔðëÁµåÑ–ÄåÁµåÄåêÆ ÇÈåÑÓ°ÜÝÁµåêÂ 

 (1) ¯ðÐé´µó ƒÒ´µó Ôåê’ð¤Ò´µðñÜÈó 

Ôåìæ’óÞ¤ „’ó± 1958  

 (2) …Ò´™²ìåêÄó Ôåê’ð¤Ò´µðñÜÈó „’ó±  

1889 

 (3) ¯ðÐé´µó Ôåìæ’ó¤ „’ó± 1940 

 (4) ÜÈðÉÜÝÇ·Ý’ó ²™Ñ–éÇ·Èó „’ó± 1887 

 

100. ÔæÏ¯ó (VAT) Äå ÕÜÈæ¾²µåÔðéÄåê ?  

 (1) ÔæÏÑëÏ „´µð´µó ¯æÏ’óÞ 

 (2) ÔæÏÑëÏ²ìåêÊÑó „´µð´µó ¯æÏ’óÞ 

 (3) ÕÚÈåêÏ²ìåêÑó ‹´µó ¯æÏ’óÞ 

 (4) Ôðé²™²ìåêÊÑó „´µð´µó ¯æÏ’óÞ 
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94. Cession of work by a body of 
persons employed in any 
industry is 

 (1) Lay off  
 (2) Strike 
 (3) Lock out  
 (4) Closure 
 
95. Procedure for fixing and revising 

minimum wages is provided 
under 

 (1) Section 5 of Minimum 
Wages Act, 1948 

 (2) Section 7 of Minimum 
Wages Act, 1948 

 (3) Section 11 of Minimum 
Wages Act, 1948 

 (4) Section 12 of Minimum 
Wages Act, 1948 

 
96. Goods displayed in a shop with a 

price tag is 
 (1) An offer 
 (2) An invitation to offer 
 (3) A counter offer 
 (4) A promise 
 
97. The term ‘Set of Bills’ is defined 

in the Negotiable Instrument 
Act, 1881 under  

 (1) Section 132  
 (2) Section 9 
 (3) Section 12  
 (4) Section 133 

98. ‘Buyer’ under Section 2(1) of 
Sale of Goods Act 1930 mean 

 (1) A person who buys goods 

 (2) A person who agrees to buy 
goods 

 (3) A person who buys or 
agrees to buy goods 

 (4) A person who does not 
agree to buy goods 

 

99. Trade Marks Act, 1999 (in force 
since 15th September, 2003) has 
replaced the earlier 

 (1) Trade & Merchandise 
Marks Act, 1958 

 (2) Indian Merchandise Act, 
1889 

 (3) Trade mark Act, 1940 

 (4) Specific Relief Act, 1887 

 

100. What is the expansion for VAT ? 

 (1) Value Added Tax 

 (2) Valuable Added Tax 

 (3) Visual Aid Tax 

 (4) Variable Added Tax 
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ÔåÚÈå¤Äó ’ðëé µ́ó

† ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ¼ð²µð²ìåêêÔåÒ¼ð ÅÔåê˜µð ½â–ÜÈåêÔåÔå²µð˜µåë …ÁµåÄåêÆ ¼ð²µð²ìåê’åë´µåÁµåê.

ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð
ÅÁ™¤ÚÈå± ÇÈå½Ð’ð

(ÇÈå½Ð’ð-II)
úúúúú

µ̃å²™ÚÈå³ ÜÈåÔåê²ìåê ‘ 2 µ̃åÒ ð̄̃ µåâÿåê µ̃å²™ÚÈå³ ƒÒ’å̃ µåâÿåê ‘ 200

A

ÕÚÈå²ìåê ÜÈåÒ’ðé¼å : 104

ÜÈåëôåÄð˜µåâÿåê
1.  ÇÈå²™é’ðÛ ÇÈæÐ²µåÒÊ·å̃ µðëÒ µ́å ¼å’åÛ¸Ôðé õ.ŠÒ.„²µó.  ‡¼å¾²µå ßæâÿð²ìåêÑ–Ó ÇÈåÐ×ðÆ ÇÈå½Ð’ð ×ðÐéº²ìåêÄåêÆ ̃ µåê²µåê¼åê Ôåìæ µ́åêÔå

ÔðëÁµåÑê, † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ƒÁ¿·µåÔæ ßå²™Á™²µåêÔå ƒÁ¿·µåÔæ ²ìåìæÔåíúÁµðé ÇÈåíú® …ÑÓÁ™²µåêÔå ƒÁ¿·µåÔæ
ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ÇÈåÐ×ðÆ µ̃åâÿåê …¼æÏÁ™ §âÿå̃ µðëÒ ™́ÑÓÔðÒÊêÁµåÄåêÆ ÅéÔåíú ÇÈå²™é“ÛÜÈå¼å’å”ÁµåêÂ. ÔðêéÑ–Äå ²ìåìæÔåíúÁµðé ÁµðëéÚÈå
’åÒ µ́åêÊÒÁµåÑ–Ó ƒÁµåÄåêÆ àÒ½²µåê ™̃ÜÝ ÑÊ·åùÏÕ²µåêÔå ×ðÐéº²ìåê ÇÈå²™ÇÈåî¸¤ÔæÁµå Êðé²µð ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ÇÈǻ µð²ìåê¼å’å”ÁµåêÂ.

2. ƒÊ·åùÏÁ¿·™¤²ìåêê ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ÔåÚÈå¤Äó ’ðëé µ́ó A, B, C ƒÁ¿·µåÔæ D, ƒÄåêÆ Ôåê¼åê¾ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ  OMR

‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ƒÁµå’æ” ™̃ §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÜÈåÀâÿåÁµåÑ–Ó Ê²µðÁµåê ÜÈåÒ’ðé¼å (ŠÄó ’ðëé µ́ó) µ̃ðëâ–ÜÈåÊðé’åê. ßæ µ̃åë
Å˜µåÁ™¼å ÜÈåÀâÿåÁµåÑ–Ó ¼æÔåíú Ôåê¼åê¾ ÜÈåÒÕé’åÛ’å²µåê ÜÈåà Ôåìæ´™²µåêÔåíúÁµåÄåêÆ •¡¼å ÇÈå´™ÜÝ’ðëâÿåäÊðé’åê. õ.ŠÒ.„²µó.
ßæâÿð²ìåêÑ–Ó  ½â–ÜÝ²µåêÔå ²ìåìæÔåíúÁµðé Ôåìæà½²ìåêÄåêÆ Ê·å½¤ Ôåìæ µ́åêÔåíúÁµåê/ŠÄó ’ðëé µ́ó Ôåìæ µ́åêÔåíúÁµåê ƒÊ·åùÏÁ¿·™¤ µ̃åâÿå
¦ÔæÊæÂ²™²ìåìæ ™̃²µåê¼å¾Áµð. §ÒÁµåê Ôðéâÿð Ê·å½¤ Ôåìæ µ́åÁ™ÁµåÂÑ–Ó/¼åÇÝÉÁµåÂÑ–Ó ƒÒ¼åßå õ.ŠÒ.„²µó. ‡¼å¾²µå ßæâÿð²ìåêÄåêÆ
½²µåÜÈå”²™ÜÈåÑæ µ̃åêÔåíúÁµåê.

3. ÇÈå’å”ÁµåÑ–Ó §Áµå̃ ™ÜÝ²µåêÔå ôò’åÁµåÑðÓé ÅÔåêÍ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ
ÄåÔåêëÁ™ÜÈåÊðé’åê. ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó Êðé²µð ‹ÄåÄåëÆ Ê²µð²ìåêÊæ²µåÁµåê.

4. † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð 100 ÇÈåÐ×ðÆ µ̃åâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð. ÇÈåÐ½²ìðëÒÁµåê ÇÈåÐ×ðÆ²ìåêê 4 ‡¼å¾²µå̃ µåâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð.
ÅéÔåíú ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ̃ µåê²µåê¼åê Ôåìæ µ́åÊðé’ðÒÁ™ÅÜÈåêÔå ‡¼å¾²µåÔåÄåêÆ „²ìðê” Ôåìæ ™́’ðëâ–ä. §ÒÁµåê Ôðéâÿð ƒÑ–Ó §ÒÁµå“”Ò¼å
ßðôåê¢ ÜÈå²™²ìåìæÁµå ‡¼å¾²µå̃ µåâ–Ôð²ìðêÒÁµåê ÅéÔåíú Ê·æÕÜÝÁµå²µð ƒ¼åêÏ¼å¾ÔåêÔðÅÜÈåêÔå ‡¼å¾²µå’ð” ̃ µåê²µåê¼åê Ôåìæ ™́. ‹Äðé „Áµå²µåë
ÇÈåÐ½ ÇÈåÐ×ðÆ µ̃ð ÅéÔåíú ’ðéÔåÑ §ÒÁµåê ‡¼å¾²µåÔåÄåêÆ Ôåìæ¼åÐ „²ìðê” Ôåìæ µ́åÊðé’åê.

5. ŠÑæÓ ‡¼å¾²µå̃ µåâÿåÄåêÆ ÅÔåê µ̃ð §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÇÈåÐ¼ðÏé’å ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–ÓÓ (OMR Sheet) ’ðéÔåÑ ’åÇÈåíþÉ ƒÁ¿·µåÔæ ÅéÑ–
×æÎê²ìåê  ÊæÑóÇÈæÎêÒ¯ó ÇÈðÅÆÄåÑ–Ó Ôåìæ¼åÐ µ̃åê²µåê¼åê Ôåìæ µ́åÊðé’åê. ‡¼å¾²µå ÇÈå½Ð’ð ßæâÿð²ìåêÑ–ÓÄå ÜÈåëôåÄð̃ µåâÿåÄåêÆ

µ̃åÔåêÅÜÈåêÔåíúÁµåê.
6. ŠÑæÓ ÇÈåÐ×ðÆ µ̃åâ–̃ µð ÜÈåÔåìæÄå ƒÒ’å̃ µåâÿåê. ÇÈåÐ½ ¼åÇÈåíþÉ ‡¼å¾²µå’ð” ÇÈåÐ×ðÆ µ̃ð Å µ̃åÁ™ÇÈǻ ™ÜÝÁµå ƒÒ’å̃ µåâÿå 0.25 ²µåÚÈåê± ƒÒ’å̃ µåâÿåÄåêÆ

’åâÿð²ìåêÑæ µ̃åêÔåíúÁµåê.
7. ¡¼åê¾ ’ðÑÜÈå’æ”˜™ ßæâÿð˜µåâÿåÄåêÆ ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ’ðëÄð²ìåêÑ–Ó ÜÈðé²™ÜÈåÑæ˜™Áµð. ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåê …ÄåêÆâ–Áµå ²ìåìæÔå

Ê·æ µ̃åÁµåÑ–Ó²ìåêë ÅéÔåíú ²ìåìæÔå ²™é½²ìåê ̃ µåê²µåê¼åÄåêÆ Ôåìæ µ́å¼å’å”ÁµåÂÑÓ.
8. ÇÈå²™é’ðÛ²ìåê Ôåêê’æ¾²ìåêÔåÄåêÆ ÜÈåë¡ÜÈåêÔå ƒÒ½Ôåê ̃ µåÒ ð̄ Êæ²™ÜÝÁµå ¼å’åÛ¸Ôðé ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÑ–Ó …ÄæÆÔåíúÁµðé

µ̃åê²µåê¼åêÔåìæ µ́åêÔåíúÁµåÄåêÆ ÅÑ–ÓÜÈåÊðé’åê. ÜÈåÒÕé’åÛ’å²µåê ÊÒÁµåê ÅÔåêÍÑ–Ó²µåêÔå ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÄåêÆ ¼åÔåêÍ Ôå×å’ð”
¼ð̃ µðÁµåê’ðëÒ µ́åê  Ñð’å”’ð” ¼ð̃ µðÁµåê’ðëâÿåêäÔåÔå²µð̃ µåë ÅÔåêÍ ÅÔåêÍ „ÜÈåÄåÁµåÑ–Ó²ìðêé ’åêâ–½²µå¼å’å”ÁµåêÂ.

9. ÇÈåÐ×ðÆ µ̃åâÿåê ’åÄåÆ µ́å Ôåê¼åê¾ „Ò µ̃åÓ Ê·æÚÈð²ìåêÑ–Ó²µåê¼å¾Ôð. ’åÄåÆ µ́å ÇÈåÐ×ðÆ µ̃åâÿåÑ–Ó ÜÈåÒÁµðéßå ‡Ò¯æÁµå²µð, Áµå²ìåêÕ®ê± „Ò µ̃åÓ Ê·æÚÈð²ìåê
ÇÈåÐ×ðÆ˜µåâÿåÄåêÆ ˜µåÔåêÅÜÈåêÔåíúÁµåê. ÇÈåÐ×ðÆ ÇÈå½Ð’ð²ìåê ÇÈåÐ×ðÆ˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµðé ˜µðëÒÁµåÑ˜µåâ–ÁµåÂ²µåë „Ò˜µåÓÊ·æÚÈð²ìåê ÇÈåÐ×ðÆ˜µåâÿðé
ƒÒ½ÔåêÔæ ™̃²µåê¼å¾Ôð.

ÄðëÒÁµåº ÜÈåÒ•ÿðÏ

²ìåìæÔåíúÁµðé ²™é½²ìåê ÔðëÊðñÑó Ç·ÈðùîéÄó, ’æÏÑó ’åêÏÑðé®²µó Ôåê¼åê¾ …¼å²µð ²™é½²ìåê ŠÑð’æ±øÅ’ó/’åÔåêêÏÅ’åðéÚÈåÄó
ÜÈæÁ·µåÄå̃ µåâÿåê …¼æÏÁ™̃ µåâÿåÄåêÆ ÇÈå²™é’æÛ ’ðéÒÁµåÐÁµå „Ôå²µå̧ Áµðëâÿå̃ µð ¼å²µåêÔåíúÁµåÄåêÆ ÅÚÈðéÁ·™ÜÝÁµð.

Note : English version of the instructions is printed on the front cover of this booklet.104-A


